1 2 3 4 5 6	LOWENSTEIN SANDLER LLP JEFFREY D. PROL (Admitted Pro Hac Vi jprol@lowenstein.com BRENT WEISENBERG (Admitted Pro Ha bweisenberg@lowenstein.com COLLEEN M. RESTEL (Admitted Pro Ha crestel@lowenstein.com One Lowenstein Drive Roseland, New Jersey 07068 Telephone: (973) 597-2500 Facsimile: (973) 597-2400	ac Vice)	
7 8	KELLER BENVENUTTI KIM LLP TOBIAS S. KELLER (Cal. Bar No. 15144 tkeller@kbkllp.com	5)	
9	JANE KIM (Ĉal. Bar No. 298192) jkim@kbkllp.com		
10	GABRIELLE L. ALBERT (Cal. Bar No. 1 galbert@kbkllp.com	90895)	
11	425 Market Street, 26th Floor San Francisco, California 94105		
12	Telephone: (415) 496-6723 Facsimile: (650) 636-9251		
13	Counsel for the Official Committee of Unsecured Creditors		
14	UNITED STATES BANKRUPTCY COURT		
15	NORTHERN DISTRICT OF CALIFORNIA		
16	OAKLAND DIVISION		
17	91-1-2		
18		Case No. 23-40523 WJL	
19	In re:	Chapter 11	
20	THE ROMAN CATHOLIC BISHOP OF	COVER SHEET TO FIFTH INTERIM FEE APPLICATION OF KELLER BENVENUTTI	
21	OAKLAND, a California corporation sole,	KIM LLP AS COUNSEL TO THE OFFICIAL COMMITTEE OF UNSECURED	
22	Debtor.	CREDITORS FOR ALLOWANCE AND	
23		PAYMENT OF COMPENSATION AND REIMBURSEMENT OF EXPENSES FOR	
24		THE PERIOD OF SEPTEMBER 1, 2024, THROUGH DECEMBER 31, 2024	
25		Judge: Hon. William J. Lafferty	
26		Date: April 30, 2025 Time: 10:30 a.m. (Pacific Time)	
27		Place: United States Bankruptcy Court 1300 Clay Street, Courtroom 220	
28		Oakland, CA 94612	
		Objection	

Case: 23-40523 Doc# 1731 Filed: 02/14/25 Entered: 02/. 234052325021400000000010

1	Name of Applicant:	Keller Benvenutti Kim LLP		
2	Authorized to Provide Professional Services to:	The Official Committee of Unsecured Creditors		
3	Trotessional services to.	The Official Committee of Offsecured Creditors		
4	Petition Date:	May 8, 2023		
5	Retention Date:	June 1, 2023, by Order dated July 8, 2023		
6	Interim Fee Period:	September 1, 2024, through December 31, 2024		
7	Prior Applications:	First Interim Fee Application		
8		[Dkt. Nos. 464, 515, and 526] and Second Interim Fee Application		
9		[Dkt. Nos. 867, 868, and 869] and Third Interim Fee Application		
10		[Dkt. Nos. 1178, 1179, and 1180] and		
11		Fourth Interim Fee Application [Dkt. Nos. 1384, 1385, and 1386]		
12	This is an: X interim	final application.		
13	This is un. <u>IX</u> meem	mur uppreution.		
14				
15				
16				
17				
18				
19				
20				
21				
22				
23				
24				
25				
26				
27				
28				

Case: 23-40523 Doc# 1731 Filed: 02/14/25 Entered: 02/14/25 16:23:28 Page 2 of 21

Interim Appli	cation Summary
Name of Applicant	Keller Benvenutti Kim LLP
Name of Client	The Official Committee of Unsecured
	Creditors of the Roman Catholic Bishop
	of Oakland
Time period covered by Interim	September 1, 2024, through and
Application	including December 31, 2024
Total compensation sought during	\$134,452.50
Application Period	
Total expenses sought during	\$3,769.35
Application Period	
Petition Date	May 8, 2023
Retention Date	June 1, 2023
Date of order approving employment	July 8, 2023 [Docket No. 204]
Total compensation allowed by	\$300,637.50
interim order to date	,
Total expenses allowed by interim	\$18,858.10
order to date	
Total compensation approved by	\$300,637.50
interim order to date	,
Total expenses approved by interim	\$18,858.10
order to date	
Blended rate in the Interim	\$649.12
Application for all attorneys	
Blended rate in the Interim	\$582.39
Application for all timekeepers	
Compensation sought in the Interim	\$107,562.00 ¹
Application already paid pursuant to a	
monthly compensation certificate but	
not yet allowed	
Expenses sought in the Interim	\$3,769.35
Application already paid pursuant to a	
monthly compensation certificate but	
not yet allowed	
If applicable, number of professionals in this	N/A
application not included in staffing plan approved by client	
If applicable, difference between fees	N/A
budgeted and compensation sought for this	11/17
application period	
Number of professionals included in	6
Interim Application	

Case: 23-40523 Doc# 1731 Filed: 02/14/25 Entered: 02/14/25 16:23:28 Page 3 of 21

As of the date of filing this Interim Application, the Applicant had submitted its Certificate of No Objection regarding the December Monthly Fee Statement but had not yet been paid this amount. It anticipates that it will have been paid prior to the hearing on the Application.

Number of professionals billing fewer than 15 hours to the case during the Application Period	4
Are any rates higher than those approved or disclosed at retention	Yes

Doc# 1731 Filed: 02/14/25 Entered: 02/14/25 16:23:28 Page 4 of 21 Case: 23-40523

SUMMARY OF MONTHLY FEE STATEMENTS

Date Filed	Period Covered	Requested Fees	Requested Expenses	Paid Fees	Paid Expenses	Holdback Fees Requested
October 30, 2024 [Dkt. No. 1427]	September 1, 2024 – September 30, 2024	\$8,135.00 ²	\$0.00	\$6,508.00	\$0.00	\$1,627.00
November 26, 2024 [Dkt. No. 1477]	October 1, 2024 – October 31, 2024	\$39,872.50	\$445.30	\$31,898.00	\$445.30	\$7,974.50
December 23, 2024 [Dkt. No. 1557]	November 1, 2024 – November 30, 2024	\$55,300.00 ³	\$1,092.97	\$44,240.00	\$1,092.97	\$11,060.00
January 30, 2024 [Dkt. No. 1675]	December 1, 2024 – December 31, 2024	\$31,145.00	\$2,231.08	\$24,916.004	\$2,231.08	\$6,229.00
Total:		\$134,452.50	\$3,769.35	\$107,562.00	\$3,769.35	\$26,890.50

Summary of Any Objections to Monthly Fee Statements: None.

Case: 23-40523 Doc# 1731 Filed: 02/14/25 Entered: 02/14/25 16:23:28 Page 5 of

This includes a voluntary reduction of \$1,000.00.

This includes a voluntary reduction of \$2,400.00.

As of the date of filing this Interim Application, the Applicant had submitted its Certificate of No Objection regarding the December Monthly Fee Statement but had not yet been paid this amount. It anticipates that it will have been paid prior to the hearing on the Application.

FIFTH INTERIM FEE APPLICATION OF KELLER BENVENUTTI KIM LLP AS COUNSEL TO THE OFFICIAL COMMITTEE OF UNSECURED CREDIOTRS OF THE ROMAN CATHOLIC BISHOP OF OAKLAND (September 1, 2024 – December 31, 2024)

CUMULATIVE COMPENSATION BY PROFESSIONAL

NAME OF PROFESSIONAL:	POSITION	YEAR ADMITTED	HOURLY RATE	TOTAL HOURS	FEES
Tobias S. Keller	Partner	1990	\$1,000	3.1	\$3,100.00
Jane Kim	Partner	2014	\$900	4.4	\$3,960.00
Gabrielle L. Albert	Associate	1997	\$650	184.5	\$119,925.00
Alice Giang	Associate	2021	\$425	10.5	\$4,462.50
Colin Mitsuoka	Paraprofessional Staff	N/A	\$200	25.5	\$5,100.00
Priscila Chen Hsu	Paraprofessional Staff	N/A	\$150	8.7	\$1,305.00
Voluntary Reduction					(\$3,400.00)
Total:			\$582.39 (blended hourly rate for all timekeepers)	236.70	\$134,452.50

Case: 23-40523 Doc# 1731 Filed: 02/14/25 Entered: 02/14/25 16:23:28 Page 6 of

CUMULATIVE COMPENSATION BY PROJECT CATEGORY

Task Code	ACTIVITY	Hours	Amount
	Fee/Employment Application of Others	19.7	\$6,790.00
	Hearings	102.8	\$67,875.00
B110	Case Administration	1.7	\$1,015.00
B120	Asset Analysis and Recovery	0.4	\$260.00
B140	Relief from Stay/Adequate Protection	30.8	\$18,855.00
B150	Meetings of and Communications with Creditors	4.6	\$2,990.00
B160	Fee/Employment Applications	24.0	\$8,682.50
B190	Other Contested Matters (excluding assumption/rejection motions)	18.6	\$9,820.00
B310	Claims Administration and Objections	3.5	\$2,185.00
B320	Plan and Disclosure Statement (including Business Plan)	30.6	\$19,380.00
	Expenses	N/A	\$3,769.35
	Voluntary Reduction	N/A	(\$3,400.00)
Total		236.7	\$138,221.85

Case: 23-40523 Doc# 1731 Filed: 02/14/25 Entered: 02/14/25 16:23:28 Page 7 of

CUMULATIVE EXPENSE SUMMARY

Expense Category	Service Provider (if applicable)	Total Expenses
Trial Transcripts from eScribers (for Hearings on October 15, October 24, and December 18, 2024)	eScribers and Veritext	\$2,111.06
Service of Documents	BK Attorney Services, LLC d/b/a certificateofservice.com and FedEx	\$507.17
Travel Expenses Related to Hearings	Uber	\$252.12
Filing Fees	Pay.gov	\$899.00
TOTAL		\$3,769.35

Case: 23-40523 Doc# 1731 Filed: 02/14/25 Entered: 02/14/25 16:23:28 Page 8 of 21

	LOWENGERIN GANDLED LLD			
1	LOWENSTEIN SANDLER LLP JEFFREY D. PROL (Admitted Pro Hac V	ice)		
2	jprol@lowenstein.com BRENT WEISENBERG (Admitted Pro H	ac Vice)		
3	bweisenberg@lowenstein.com COLLEEN M. RESTEL (Admitted Pro H	ac Vice)		
4	crestel@lowenstein.com One Lowenstein Drive			
5	Roseland, New Jersey 07068 Telephone: (973) 597-2500			
6	Facsimile: (973) 597-2400			
7	KELLER BENVENUTTI KIM LLP TOBIAS S. KELLER (Cal. Bar No. 15144	15)		
8	tkeller@kbkllp.com JANE KIM (Cal. Bar No. 298192)	· · · · · · · · · · · · · · · · · · ·		
9	jkim@kbkllp.com GABRIELLE L. ALBERT (Cal. Bar No. 1	100805)		
10	galbert@kbkllp.com 425 Market Street, 26th Floor	190093)		
11	San Francisco, California 94105			
12	Telephone: (415) 496-6723 Facsimile: (650) 636-9251			
13	Counsel for the Official Committee of Unsecured Creditors			
14	UNITED STATES BANKRUPTCY COURT			
15	NORTHERN DISTRICT OF CALIFORNIA			
16				
17	OAKLAND DIVISION			
18		Case No. 23-40523 WJL		
19	In re:	Chapter 11		
20	THE ROMAN CATHOLIC BISHOP OF	FIFTH INTERIM FEE APPLICATION OF KELLER BENVENUTTI KIM LLP AS		
21	OAKLAND, a California corporation	COUNSEL TO THE OFFICIAL COMMITTEE OF UNSECURED CREDITORS FOR		
22	sole,	ALLOWANCE AND PAYMENT OF		
23	Debtor.	COMPENSATION AND REIMBURSEMENT OF EXPENSES FOR THE PERIOD OF		
24		SEPTEMBER 1, 2024, THROUGH DECEMBER 31, 2024		
25		Judge: Hon. William J. Lafferty		
		Date: April 30, 2025		
26		Time: 10:30 a.m. (Pacific Time) Place: United States Bankruptcy Court		
27		1300 Clay Street, Courtroom 220 Oakland, CA 94612		
28		Objection Deadline: March 7, 2025		

Case: 23-40523 Doc# 1731 Filed: 02/14/25 Entered: 02/14/25 16:23:28 Page 9 of 21

19

20

2223

24

25

2627

28

Committee of Unsecured Creditors (the "Committee") of The Roman Catholic Bishop of Oakland (the "**Debtor**") in the above captioned chapter 11 case (the "**Chapter 11 Case**"), hereby submits its Fifth Interim Fee Application (the "Interim Application"), for an order, in substantially the form attached hereto as **Exhibit B**, pursuant to sections 330 and 331 of title 11 of the United States Code (the "Bankruptcy Code"), Rule 2016 of the Federal Rules of Bankruptcy Procedure (the "Bankruptcy Rules"), the United States Trustee Appendix B Guidelines for Reviewing Applications for Compensation and Reimbursement of Expenses Filed Under 11 U.S.C. § 330 by Attorneys in Larger Chapter 11 Cases, effective November 1, 2013 (the "U.S. Trustee Guidelines"), the Guidelines for Compensation and Expense Reimbursement of Professionals and Trustees (the "Northern District Guidelines"), and the Bankruptcy Local Rules for the Northern District of California (the "Local Rules"), the Order Authorizing Procedures for Interim Compensation and Reimbursement of Expenses of Professionals (the "Interim Compensation Order") [Dkt. No. 170] entered by the Court on June 23, 2023, and the Order Appointing Fee Examiner and Establishing Procedures for Review of Interim and Final fee Applications Filed by Estate Professionals [ECF 729] [Dkt. No. 1122] (the "Fee Examiner **Order**") for interim approval and allowance of (i) compensation for professional services rendered to the Committee from September 1, 2024, through and including December 31, 2024 (the "Interim Fee Period") and (ii) reimbursement of expenses incurred in connection with such services; and, in support thereof, respectfully represents as follows:

Keller Benvenutti Kim LLP (the "Applicant" or "KBK"), counsel to the Official

THE U.S. TRUSTEE GUIDELINES

1. The Office of the United States Trustee (the "<u>U.S. Trustee</u>") established the U.S. Trustee Guidelines. In turn, the U.S. Trustee promulgated forms to aid in compliance with the U.S. Trustee Guidelines. Charts and tables based on such forms, and certain other exhibits, are attached and filled out with data to the extent relevant to this Chapter 11 Case:

Exhibit A: Customary and Comparable Compensation Disclosures with Fee Applications

Coversheet: Summary of Timekeepers included in this Fee Application

Exhibit C: Budget and Staffing Plan

Coversheet: Summary of Compensation Requested by Project Category

Coversheet: Summary Cover Sheet of Fee Application

3

1

2

PRELIMINARY STATEMENT

7

9

10 11

12

13

14 15

16

17

18 19

20

21

22 23

24

25

26

27

28

///

1. Since KBK's retention by the Committee on June 1, 2023, KBK has been actively engaged in all aspects of the case with the goal of maximizing recoveries to unsecured creditors of the Debtor, ensuring case efficiencies with the Committee's lead counsel and other professionals. Upon its retention, KBK consulted with the Committee's lead counsel on various issues arising in this Chapter 11 Case and related adversary proceedings, conducted research in support of contested motions brought by the Committee, and advised the Committee on local practices and procedures, among other tasks.

- 2. All of these efforts have required KBK to work closely with the Committee and its lead counsel to keep the Committee informed throughout this Chapter 11 Case in regular updates, meetings and communications with the Committee. KBK has also worked with the Committee's special insurance counsel, Burns Bair LLP, its financial advisors, Berkeley Research Group, LLC, and its expert consultant on valuation of sexual abuse claims, Stout Risius Ross, LLC, as well as with the Debtor and its professional advisors, always with the goal of maximizing returns for the unsecured creditors.
- 3. The Interim Application is based upon the points and authorities cited herein, the Declarations of Tobias S. Keller and Steve Woodall filed concurrently herewith, the exhibits attached hereto, the pleadings, papers, and records on file in this case, and any evidence or argument that the Court may entertain at the time of the hearing on the Interim Application.

JURISDICTION

4. This Court has jurisdiction to consider this matter pursuant to 28 U.S.C. §§ 157 and 1334, the Order Referring Bankruptcy Cases and Proceedings to Bankruptcy Judges, General Order 24 (N.D. Cal.), and Rule 5011-1(a) of the Local Rules. This is a core proceeding pursuant to 28 U.S.C. § 157(b)(2). Venue is proper before this Court pursuant to 28 U.S.C. §§ 1408 and 1409.

Case: 23-40523 Doc# 1731 Filed: 02/14/25 Entered: 02/14/25 16:23:28 Page 11

CASE BACKGROUND AND STATUS

A. Debtor's Bankruptcy Proceedings

5. The Debtor filed a voluntary petition for relief under Chapter 11 of the Bankruptcy Code on May 8, 2023 (the "Petition Date"). The Debtor continues to operate its business and manages its properties as a debtor in possession pursuant to sections 1107(a) and 1108 of the Bankruptcy Code. No trustee or examiner has been appointed in this Chapter 11 Case. To date, the Debtor has filed a plan [Dkt. No. 1444] and an amended plan of reorganization [Dkt. No. 1594]. The Debtor also filed a disclosure statement [Dkt. No. 1445] and an amended disclosure statement [Dkt. No. 1595], both of which drew opposition from the Committee [Dkt. Nos. 1518 and 1624, respectively].

B. Selection of the Committee

6. On May 23, 2023, pursuant to Section 1102 of the Bankruptcy Code, the U.S. Trustee selected interested creditors to serve on the Committee. Pursuant to section 1102(a)(1) of the Bankruptcy Code, the U.S. Trustee appointed nine members to serve on the Committee. Upon formation, the Committee selected Mr. Steve Woodall as its chair. On May 30, 2023, the Committee selected Lowenstein Sandler LLP ("Lowenstein") as its lead counsel, and on June 1, 2023, the Applicant as local bankruptcy counsel.

C. The Committee's Retention of KBK

7. On July 8, 2023, the Court entered the *Order Authorizing Retention of Keller Benvenutti Kim LLP as Local Counsel for the Official Committee of Unsecured Creditors of the Roman Catholic Bishop of Oakland, Effective as of June 1, 2023* [Dkt. No. 204] (the "**Retention Order**"). The Retention Order authorizes compensation and reimbursement to KBK in accordance with the Bankruptcy Code, the Bankruptcy Rules, the Northern District Guidelines, the Local Rules, and the Interim Compensation Order. Subject to KBK's application to the Court, the Debtor is authorized by the Retention Order to compensate KBK at its standard hourly rates for services performed and to reimburse it for actual and necessary expenses incurred. The Retention Order authorizes KBK to provide the following services to the Committee: (1) provide legal advice to the Committee with respect to its duties and powers in this Chapter 11

Case: 23-40523 Doc# 1731 Filed: 02/14/25 Entered: 02/14/25 16:23:28 Page 12

1 Case; (2) consult with the Committee and the Debtor concerning administration of this Chapter 2 11 Case; (3) assist the Committee in its investigation of the acts, conduct, assets, liabilities, and 3 financial condition of the Debtor, sales under section 363 of the Bankruptcy Code, litigation 4 relating to any of the foregoing, and any other matter relevant to this Chapter 11 Case; (4) assist 5 the Committee in analyzing the Debtor's capital structure; (5) assist the Committee in evaluating 6 claims against the estate, including analysis of and possible objections to the validity, priority, 7 amount, subordination, or avoidance of claims and/or transfers of property in consideration of 8 such claims; (6) assist the Committee in participating in the formulation and confirmation of a 9 chapter 11 plan, including the Committee's communications with unsecured creditors concerning 10 such plan; (7) assist the Committee with any effort to request the appointment of a trustee or 11 examiner; (8) advise and represent the Committee in connection with matters generally arising in 12 this Chapter 11 Case, including the obtaining of credit, the sale of assets, and the rejection or 13 assumption of executory contracts and unexpired leases; (9) appear before this Court, any other 14 federal court, state court or appellate court; (10) provide traditional services of local co-counsel 15 including, without limitation, monitoring the docket for filings and coordinating with lead counsel 16 in matters that need response; preparing certifications of counsel, and notices of fee applications 17 and hearings; and for preparing documents and pleadings hearings; and (11) perform all other

legal services as may be required and which are in the interests of unsecured creditors or otherwise directed by the Committee. [Dkt No. 204 at 2–3].

D. Summary of Professional Compensation and Reimbursement of Expenses Requested

8. By this Interim Application, the Applicant seeks interim allowance of

compensation in the amount of \$134,452.50¹ and actual and necessary expenses in the amount of \$3,769.35 for a total allowance of \$138,221.85 for the Interim Fee Period. The total compensation requested includes a voluntary reduction in the amount of \$3,400.00 from fees incurred in the

months of September and November. Attached herewith as Exhibit D is an accurate and

18

19

20

21

22

23

24

25

26

Case: 23-40523 Doc# 1731 Filed: 02/14/25 Entered: 02/14/25 16:23:28 Page 13

of 2

²⁷²⁸

KBK took a voluntary reduction of its fees during the Interim Fee Period in the amount \$3,400 in an exercise of its billing judgment.

4 5

6

3

7 8

9

10 11

12

13

1415

17

16

18 19

20

21

22

23

2425

26

2728

complete copy of an itemized statement detailing all fees and expenses accrued during the Interim Fee Period.

- 9. All services for which KBK requests compensation were performed for or on behalf of the Committee. KBK has received no promises for payment from any source other than the Debtor for services rendered or to be rendered in any capacity whatsoever in connection with the matters covered by this Interim Application.
- 10. There is no agreement or understanding between KBK and any other person other than the partners of KBK for the sharing of compensation to be received for services rendered in this Chapter 11 Case. In connection with the Chapter 11 Case, during the Interim Fee Period KBK has been paid \$107,562.00 in fees and \$3,769.35 in expenses pursuant to the procedure established by the Interim Compensation Order.²
- 11. KBK has billed the Committee in accordance with its existing billing rates and procedures in effect during the Interim Fee Period. These rates are the same rates KBK charges for services rendered by its attorneys and paraprofessionals in comparable matters and are reasonable given the compensation charged by comparably skilled practitioners in similar matters in both the California and national markets. The Summary Sheet filed herewith contains tables listing the KBK attorneys and paraprofessionals who have performed services for the Committee during the Interim Fee Period, including their job titles, hourly rates, aggregate number of hours worked in this matter, and, for attorneys, the year in which each professional was licensed to practice law. The Summary Sheet also contains a table summarizing the hours worked by KBK attorneys and paraprofessionals broken down by project billing code. KBK maintains computerized time records, which have been filed on the docket with the Firm's monthly fee statements and furnished to the Debtor and the U.S. Trustee in the format specified by the Interim Compensation Order. The Committee has reviewed the Interim Application and approves the fees and expenses requested herein.

As of the date of filing this Interim Application, the Applicant had submitted its Certificate of No Objection regarding the December Monthly Fee Statement but had not yet been paid this amount. It anticipates that it will have been paid prior to the hearing on the Application.

12.

6

10

11

9

12

14 15

13

16

17 18

19

20

21

22 23

24

25

26

27

28

To the extent that time or disbursement charges for services rendered or disbursements incurred relate to the Interim Fee Period but were not processed prior to the preparation of this Application, KBK reserves the right to request additional compensation for such services and reimbursement of such expenses in a future application.

SUMMARY OF SERVICES PERFORMED BY KBK DURING THE INTERIM FEE PERIOD

- 13. During the Interim Fee Period, KBK professionals expended 236.7 hours on behalf of the Committee. Of this, only 7.5 hours were expended by KBK partners, while 195.0 hours were expended by KBK associates and 34.2 hours were expended by paraprofessionals.
- 14. In accordance with the Interim Compensation Order, the Fee Examiner Order, the Northern District Guidelines, the U.S. Trustee Guidelines, and the Local Rules, KBK has classified services performed into the seven specific categories set forth below. KBK has attempted to place the services provided in the category that best relates to such services; because certain services may relate to one or more categories, however, services pertaining to one category may in fact be included in another category. The following summary of services rendered during the Interim Fee Period is not intended to be a detailed description of the work performed. Rather, it merely highlights certain project billing categories in which significant services were rendered by KBK, as well as identifies some of the issues KBK was required to address.

A. **Case Administration**

(Task Code B110) Fees: \$1,015.00; Total Hours: 1.7

15. During this Interim Fee Period, KBK utilized this billing category to capture tasks that did not neatly fit into other billing categories. Among other things, KBK (1) assisted the Committee's special insurance counsel in a pro hac vice application, and (2) reviewed the Debtor's status conference report. These were necessary to maximize the overall benefit of the Debtor's estate for all creditors.

///

///

Entered: 02/14/25 16:23:28 Case: 23-40523 Doc# 1731 Filed: 02/14/25 Page 15

B. Asset Analysis and Recovery

(Task Code B120) Fees: \$260.00; Total Hours: 0.4

16. During the Interim Fee Period, KBK attorneys consulted with the Committee's lead counsel regarding real estate valuation. KBK attorneys employed a collaborative approach with the Committee's lead counsel that ensured a comprehensive strategy for maximizing recovery for creditors in this Chapter 11 Case.

C. Relief from Stay/Adequate Protection

(Task Code B140) Fees: \$18,855.00; Total Hours: 30.8

17. During the Interim Fee Period, KBK attorneys worked diligently with the Committee's lead counsel for the preparation and filing of (1) the Committee's motion to lift the automatic stay to permit certain personal injury claims to proceed in state court [Dkt. Nos. 1460 and 1461], and (2) the Committee's objection to the Debtor's request to enlarge time to file response briefs on the Committee's motion to lift the automatic stay and motion for derivative standing [Dkt. Nos. 1475 and 1476]. These activities are essential to the Committee's representation of the survivors and other creditors of the estate.

D. Meetings of and Communications with Creditors

(Task Code B150) Fees: \$2,990.00; Total Hours: 4.6

18. During the Interim Fee Period, KBK attorneys attended Committee meetings, and meetings with special insurance counsel and state court counsel when necessary to provide local insight and guidance. Meetings and communications with the Committee and other creditors are a necessary and mandatory aspect of KBK's legal representation of the Committee.

E. Fee/Employment Applications

(Task Code B160) Fees: \$8,682.50; Total Hours: 24.0

19. During the Interim Fee Period, KBK prepared its Fourth Interim Fee Application [Dkt. No. 1384] and two declarations in support thereof [Dkt. Nos. 1385 and 1386]. KBK also prepared four Monthly Fee Statements for the periods of August 1, through August 31, 2024 [Dkt. No. 1350]; September 1, 2024, through September 30, 2024 [Dkt. No. 1427]; October 1, 2024,

Case: 23-40523 Doc# 1731 Filed: 02/14/25 Entered: 02/14/25 16:23:28 Page 16

of 2:

 $_{28}$

through October 31, 2024 [Dkt. No. 1477]; and November 1, 2024, through November 30, 2024 [Dkt. No. 1557].

- 20. During this period, KBK billed \$6,012.50 in preparing its Fourth Interim Fee Application in which it sought the allowance of \$47,424.07 in fees and expenses. The amount billed preparing the Fourth Interim Fee Application was therefore approximately 12.7 percent of the total amount sought, exceeding the five percent guideline of the Northern District Guidelines. That said, those guidelines are just that "guidelines" and do not affect law or even local rule. See B.L.R. 9029-1 ("such guidelines are not intended to be local rules and shall not have the force and effect thereof"). In fact, while the guidelines purport to limit the amount charged for fee applications to five percent, that limit is not a hard and fast rule. "We can envision circumstances that would justify an award of fees for preparing fee applications in excess of the five percent limitation[.]" Rakitin v. Cohen (In re Dimas, LLC), No. NC-08-1073-DJuMk, 2009 Bankr. LEXIS 4552, at *19 (B.A.P. 9th Cir. Feb. 25, 2009).
- 21. This is such a circumstance. KBK has been mindful of its role as local counsel and has worked diligently to limit its activities to those necessary. Regardless of the size of its role, KBK must comply with section 330 of the Bankruptcy Code by drafting and submitting fee applications which take a minimum amount of time to complete. The Northern District Guidelines, along with the U.S. Trustee Guidelines, include elements that must be included in all fee applications, such as background, supporting declarations, and charts summarizing the charges. The amount billed is over five percent of the amount sought in the Fourth Interim Fee Application because KBK managed its level of engagement to match the size of its role in the case. KBK requests that the Court find that this is a justifiable exception to the Northern District Guideline's five percent cap and allow the full amount of its fees related to preparation of the First Interim Fee Application.

///

///

///

Case: 23-40523 Doc# 1731 Filed: 02/14/25 Entered: 02/14/25 16:23:28

of 21

Page 17

9

6

13

16 17

18

19

20

21 22

23 24

25

26

27 28 F. **Fee/Employment Application of Others**

Fees: \$6,790.00; Total Hours: 19.7

22. During the Interim Fee Period, KBK, among other things: (1) assisted in the preparation and filing of Committee's professionals' interim fee applications [Dkt. Nos. 1387, 1390, 1395, and 1403]; (2) prepared and revised monthly statements in accordance with the Interim Compensation Order for the Committee's professionals, including the certificates of no objection where appropriate; and (3) advised the Committee's other professionals regarding fee application requirements. The payment to the Committee's professionals was necessary for the purpose of adequate and complete representation of the Committee's interests, providing a benefit to the Debtor's estate for all creditors.

G. Other Contested Matters (excluding assumption/rejection motions) (Task Code B190) Fees: \$9,820.00; Total Hours: 18.6

23. During the Interim Fee Period, KBK attorneys consulted and collaborated with the Committee's lead counsel on various issues, including: (1) mediation; (2) drafting and revising of the Committee's insurance standing motion and related reply [Dkt. Nos. 1538 and 1604]; (3) drafting and revising of the Committee's derivative standing motion and related reply [Dkt. Nos. 1462 and 1599]; and (4) complaints filed against and subpoena on the Debtor. Assisting the Committee with strategizing on how to address contested matters serves to ultimately benefit the creditors of the Debtor's estate.

H. Hearings

Fees: \$67,875.00; Total Hours: 102.8

24. During the Interim Fee Period, KBK attorneys appeared before the Court as local counsel to the Committee at all hearings and status conferences in this Chapter 11 Case and related adversary proceedings. The hearings before this Court were: (1) the September 25 hearing regarding the Debtor's fourth motion to extend time to assume/reject contracts [Dkt. No. 1328]; (2) the October 15 hearing on the motion to allow survivor statements [Dkt. No. 1365]; (3) the October 24 and November 4 status conferences for survivor statements; (4) the November 27 status conference; (5) the December 11 hearing regarding KBK's and the Committee's other

Filed: 02/14/25 Entered: 02/14/25 16:23:28 Case: 23-40523 Doc# 1731 Page 18

professionals' interim fee applications; and (6) the December 18 hearing regarding the Debtor's disclosure statement [Dkt. No. 1453]. Attendance at hearings and status conferences, as well as maintaining communications with survivors, Committee members, and the Committee's professionals are necessary for the smooth administration of this Chapter 11 Case.

25. In addition to attendance at hearings, KBK, among other things, also: (1) worked with the Committee's lead counsel in the drafting and revising of the motion to set status conferences for survivor statements and the ex parte application to schedule the status conferences on shortened time [Dkt. Nos. 1365 and 1366]; (2) revised and finalized a reply regarding survivor statements status conferences [Dkt. No. 1415]; and (3) maintained communication with survivors, Committee members, and the Committee's other professionals in preparation for the November 4 and December 13 hearings. KBK attorneys were instrumental in the preparation for both hearings where survivors were allowed to make statements to the Court. KBK attorneys worked with the individual survivors and their state court counsel to ensure that each survivor was familiar with the process and proceedings so that they could speak to the Court while minimizing the potential trauma of the hearing. These tasks are necessary for the Committee's effective representation of the survivors in this Chapter 11 Case.

I. Claims Administration and Objections(Task Code B310) Fees: \$2,185.00; Total Hours: 3.5

26. During the Interim Fee Period, KBK consulted with the Committee's lead counsel to draft and file (1) the stipulation to permit experts and consultants access to unredacted proofs of claim [Dkt. No. 1443], and (2) the Committee's objection to the Oakland Parochial Fund's claim and related notice [Dkt. Nos. 1524 and 1526]. These activities were essential to fully advocate for the rights of creditors in this Chapter 11 Case.

J. Plan and Disclosure Statement (including Business Plan)(Task Code B320) Fees: \$19,380.00; Total Hours: 30.6

27. During the Interim Fee Period, KBK attorneys, among other things: (1) consulted with the Committee's other professionals regarding insurance coverage issues and settlement law; (2) maintained communication with lead counsel regarding plan strategy, negotiations, and

Case: 23-40523 Doc# 1731 Filed: 02/14/25 Entered: 02/14/25 16:23:28 Page 19

of 23

6

7

8

10 11

9

12 13

14

15

16

17 18

19

20 21

22 23

24

25

26 27

28

objection to the Debtor's disclosure statement; and (3) collaborated with the Committee's professionals to draft the objections to the Debtor's disclosure statement and amended disclosure statement [Dkt. Nos. 1518 and 1624, respectively]. The input from the Committee regarding the Debtor's chapter 11 plan and disclosure statements is critical in ensuring a viable plan that will protect the rights of all creditors.

ACTUAL AND NECESSARY DISBURSEMENTS

28. As is its typical practice in chapter 11 cases, KBK advanced costs on behalf of the Committee in connection with the discharge of the duties described in the Interim Application. During the Interim Fee Period, KBK incurred a total of \$3,769.35 expenses. These expenses relate to payment for hearing transcripts, service of documents, filing fees, and travel expenses to and from scheduled hearings. These expenses are reasonable and necessary for the administration of the Chapter 11 Case. Receipts for all significant expenses have been provided to the Committee.

LEGAL BASIS FOR INTERIM COMPENSATION

- 29. The professional services for which KBK requests interim allowance of compensation and reimbursement of expenses were rendered and incurred in connection with this case in the discharge of KBK's professional responsibilities as attorneys for the Committee in this Chapter 11 Case. KBK's services have been necessary and beneficial to the Committee, the Debtor, its estate, creditors, and other parties in interest.
- 30. In accordance with the factors enumerated in section 330 of the Bankruptcy Code, KBK respectfully submits that the amount requested by KBK is fair and reasonable given the complexity of the Chapter 11 Case, the time expended, the nature and extent of the services rendered, the value of such services, and the costs of comparable services other than in a case under the Bankruptcy Code. Moreover, KBK has reviewed the requirements of the Interim Compensation Order, the Fee Examiner Order, the Northern District Guidelines, and the U.S. Trustee Guidelines and believes that the Interim Application complies with all of them.

1	AVAILABLE FUNDS
2	31. The Applicant understands that the Debtor's estate has sufficient funds available
3	
4	to pay the fees and costs sought herein.
	NOTICE Notice to the second se
5	Notice of the Interim Application has been provided to parties in interest in accordance
6	with the procedures set forth in the Interim Compensation Order. KBK submits that, in view of
7	the facts and circumstances of the Chapter 11 Case, such notice is sufficient, and no other or
8	further notice need be provided.
9	CONCLUSION
10	KBK respectfully requests an interim allowance to KBK as compensation for fees in the
11	amount of \$134,452.50 and actual and necessary expenses in the amount of \$3,769.35 for a total
12	allowance of \$138,221.85; and for such other and further relief as this Court deems proper.
13	
14	Dated: February 14, 2025 Respectfully submitted,
15	KELLER BENVENUTTI KIM LLP
16	By:/s/ Gabrielle L. Albert
17	Gabrielle L. Albert
18	Counsel for the Official Committee of Unsecured
19	Creditors
20	
21	
22	
23	
24	
25	
26	
27	
28	

Case: 23-40523 Doc# 1731 Filed: 02/14/25 Entered: 02/14/25 16:23:28 Page 21 of 21

Exhibit A

of 2

EXHIBIT A CUSTOMARY AND COMPARABLE COMPENSATION DISCLOSURES WITH FEE APPLICATIONS

Privacy Act Statement. 28 U.S.C. § 586(a)(3)(A) authorizes the collection of this information. The United States Trustee will use the information contained in this form to evaluate whether compensation and reimbursement of expenses filed by attorneys in larger chapter 11 cases - those cases with \$50 million or more in assets and \$50 million or more in liabilities - are appropriate and reasonable pursuant to 11 U.S.C. § 330. Disclosure of this information may be to a bankruptcy trustee or examiner when the information is needed to perform the trustee's or examiner's duties, or to the appropriate federal, state, local, regulatory, tribal, or foreign law enforcement agency when the information indicates a violation or potential violation of law. Other disclosures may be made for routine purposes. For a discussion of the types of routine disclosures that may be made, you may consult the Executive Office for United States Trustee's systems of records notice, UST-001, "Bankruptcy Case Files and Associated Records." See 71 Fed. Reg. 59,818 et seq. (Oct. 11, 2006). A copy of the notice may be obtained at the following link: https://www.gpo.gov/fdsys/pkg/FR-2006-10-11/pdf/E6-16814.pdf.

Failure to provide this information could result in an objection to your fee application, or other action by the United States Trustee. 11 U.S.C. § 330.

(See Guidelines ¶ C.3. for definitions of terms used in this Exhibit.)

CATEGORY OF TIMEKEEPER		BLENDED HOURLY RATE		
(using categories already maintained by the firm)		BILLED OR COLLECTED	BILLED	
		Firm or offices for preceding year, excluding bankruptcy	In this fee application	
Delete	Partner	\$830.64	\$941.33	
Delete	Associate	\$666.55	\$637.88	
Delete	Paralegal	\$185.80	\$187.28	
Add	Click Add button to add additional timekeeper category			
	All timekeepers aggregated	\$560.99	\$588.83	

Case Name: Roman Catholic Bishop of Oakland

Case Number: 23-BK-40523

Applicant's Name: Keller Benvenutti Kim LLP

Date of Application: February 14, 2025

Interim or Final: Interim

UST Form 11-330-A (2013)

Exhibit B

of 4

1	LOWENSTEIN SANDLER LLP JEFFREY D. PROL (Admitted Pro Hac Vice)				
2	jprol@lowenstein.com BRENT WEISENBERG (Admitted Pro Hac Vice)				
3	bweisenberg@lowenstein.com COLLEEN M. RESTEL (Admitted Pro Hac Vice)				
4	crestel@lowenstein.com One Lowenstein Drive	<i>c)</i>			
5	Roseland, New Jersey 07068 Telephone: (973) 597-2500				
6	Facsimile: (973) 597-2400				
7	KELLER BENVENUTTI KIM LLP TOBIAS S. KELLER (Cal. Bar No. 151445)				
8	tkeller@kbkllp.com JANE KIM (Cal. Bar No. 298192)				
9	jkim@kbkllp.com GABRIELLE L. ALBERT (Cal. Bar No. 19089:	5)			
10	galbert@kbkllp.com 425 Market Street, 26th Floor	,			
11	San Francisco, California 94105 Telephone: (415) 496-6723				
12	Facsimile: (650) 636-9251				
13	Counsel for the Official Committee of Unsecured Creditors				
14	UNITED STATES BAN	NKRUPTCY COURT			
15	NORTHERN DISTRIC OAKLAND	CT OF CALIFORNIA			
16		1			
17		Case No. 23-40523 WJL			
18	In re:	Chapter 11			
19	THE ROMAN CATHOLIC BISHOP OF	[PROPOSED] ORDER GRANTING FIFTH INTERIM FEE APPLICATION			
20	OAKLAND, a California corporation sole,	OF KELLER BENVENUTTI KIM LLP			
21	Debtor.	AS COUNSEL TO THE OFFICIAL COMMITTEE OF UNSECURED			
22		CREDITORS FOR ALLOWANCE AND PAYMENT OF COMPENSATION AND			
23		REIMBURSEMENT OF EXPENSES FOR THE PERIOD OF SEPTEMBER 1, 2024,			
24		THROUGH DECEMBER 31, 2024			
25		Judge: Hon. William J. Lafferty			
26		Date: April 30, 2025 Time: 10:30 a.m. (Pacific Time)			
27		Place: United States Bankruptcy Court 1300 Clay Street, Courtroom 220			
28		Oakland, CA 94612 Objection Deadline: March 7, 2025			

Case 23-40523 Doc# 1731-2 Filed: 02/14/25 Entered: 02/14/25 16:23:28 Page 2 of 4

Upon consideration of the Fifth Interim Fee Application of Keller Benvenutti Kim LLP as Counsel to the Official Committee of Unsecured Creditors for Allowance and Payment of Compensation and Reimbursement of Expenses for the Period of September 1, 2024, Through December 31, 2024 (the "Interim Application"); and this Court having jurisdiction to consider the Interim Application and the relief requested therein pursuant to 28 U.S.C. §§ 157 and 1334, the Order Referring Bankruptcy Cases and Proceedings to Bankruptcy Judges, General Order 24 (N.D. Cal), and Rule 5011-1(a) of the Bankruptcy Local Rules for the United States District Court for the Northern District of California; and consideration of the Interim Application and the requested relief being a core proceeding pursuant to 28 U.S.C. § 157(b); and venue being proper before this Court pursuant to 28 U.S.C. §§ 1408 and 1409; and due and proper notice of the 10 Interim Application having been provided to the parties listed therein, and it appearing that no 11 other or further notice need be provided; and this Court having reviewed the Interim Application 13 and the Keller and Woodall Declarations; and, upon the record and all of the proceedings had 14 before the Court; and this Court having found and determined that the relief sought in the Interim Application is in the best interests of the Debtor, its estate, creditors, and all parties in interest; 15 16 and that the legal and factual bases set forth in the Interim Application establish just cause for the

IT IS HEREBY ORDERED THAT:

1. The Interim Application is granted as provided herein.

relief granted herein; and after due deliberation and sufficient cause appearing therefor,

- 2. KBK is awarded an interim allowance of its compensation for professional services rendered in the amount of \$138,221.85, consisting of \$134,452.50 of fees and reimbursement of \$3,769.35 of actual and necessary expenses incurred during the Interim Fee Period.
 - 3. The Debtor is directed to pay KBK the amount allowed in paragraph 2 above.

25 ///

26

27

1

2

3

4

5

6

7

8

9

17

18

19

20

21

23

24

Filed: 02/14/25 1Entered: 02/14/25 16:23:28 23-40523 Doc# 1731-2 Page 3

Capitalized terms used but not defined herein shall have the meaning ascribed to them in the Interim Application.

4. The Court shall retain jurisdiction to determine any controversy arising in connection with this Order. ** END OF ORDER **

Case 23-40523 Doc# 1731-2 Filed: 02/14/25 2Entered: 02/14/25 16:23:28 Page 4

Exhibit C

of 3

Proposed Fourth Interim Budget for Local Counsel to the Official Committee of Unsecured Creditors for the Roman Catholic Bishop of Oakland for the Period September 1, 2024, through December 31, 2024

Project Category	Estimated Hours		Estimated Fees ¹	
	Low	High	Low	High
Meetings & Hearings	50	100	\$35,000	\$77,000
Adversary Proceedings & Contested Matters	50	75	\$35,000	\$45,500
Claims Review, Asset Investigations & General Administration	20	40	\$14,000	\$28,000
Employment and Fee Applications	30	60	\$21,000	\$28,000
TOTAL	150	275	\$105,000	\$178,500

Keller Benvenutti Kim LLP ("KBK") reserves its right to modify this budget and staffing plan in the event circumstances unforeseen at the time these were prepared would cause KBK to be required to utilize additional or different staffing to appropriately deal with events that may arise in the bankruptcy case.

-

UST Form 11-330-C (2013) Page 1 Case: 23-40523 Doc# 1731-3 Filed: 02/14/25 Entered: 02/14/25 16:23:28 Page 2

KBK's estimated fees are calculated at the rate of \$700 per hour.

Staffing Plan for Local Counsel to the Official Committee of Unsecured Creditors For The Roman Catholic Bishop of Oakland for the Period September 1, 2024, through December 31, 2024

Category of Timekeeper	Number of Timekeepers Expected to Work on the Matter During the Budget Period	Average Hourly Rate
Partner	1-2	\$950
Associate	2	\$537.50
Paralegal	1-2	\$175

KBK reserves its right to modify this budget and staffing plan in the event circumstances unforeseen at the time these were prepared would cause KBK to be required to utilize additional or different staffing to appropriately deal with events that may arise in the bankruptcy case.

UST Form 11-330-C (2013) Page 2 Case: 23-40523 Doc# 1731-3 Filed: 02/14/25 Entered: 02/14/25 16:23:28 Page 3

Exhibit D

of 33



425 Market Street, Floor 26 San Francisco, CA 94105 US www.kbkllp.com

I-2671

Number	2671
Issue Date	10/28/2024
Due Date	11/27/2024

The Official Committee of Unsecured Creditors of the Roman Catholic Bishop of Oakland

00283-B150 Meetings of and Communications with Creditors

Time Entries	Billed By	Rate	Hours	Fees and Expenses Total
Appear for/attend A109 9/12/2024 Attend state court counsel committee meeting.	Gabrielle Albert	\$650.00	1.20	\$780.00
Appear for/attend A109 9/20/2024 Attend creditors committee meeting.	Gabrielle Albert	\$650.00	1.70	\$1,105.00
	Tin	ne Entries Total	2.90	\$1,885.00

Total for 00283-B150 Meetings of and \$1,885.00

Communications with Creditors

00283-B160 Fee/Employment Applications

Time Entries	Billed By	Rate	Hours	Fees and Expenses Total
Draft/revise A103 9/4/2024 Draft budget for fifth interim period.	Gabrielle Albert	\$650.00	0.30	\$195.00
Draft/revise A103 9/4/2024 Draft monthly fee statement.	Colin Mitsuoka	\$200.00	0.70	\$140.00
Draft/revise A103 9/5/2024 Revise August monthly fee statement.	Colin Mitsuoka	\$200.00	0.20	\$40.00
Draft/revise A103 9/16/2024 Start drafting KBK interim fee application.	Priscila Chen Hsu	\$150.00	1.20	\$180.00
Communicate (in firm) A105 9/19/2024 Confer with A. Giang and P. Chen Hsu regarding interim fee application.	Colin Mitsuoka	\$200.00	0.20	\$40.00

of 33

Time Entries	Billed By	Rate	Hours	Fees and Expenses Total
Communicate (in firm) A105 9/19/2024	Alice Giang	\$425.00	0.20	\$85.00
Confer with C. Mitsuoka and P. Chen Hsu regarding interim fee app.				
Communicate (in firm) A105 9/19/2024	Priscila Chen Hsu	\$150.00	0.20	\$30.00
Confer with A. Giang and C. Mitsuoka regarding interim fee application.				
Draft/revise A103 9/25/2024	Colin Mitsuoka	\$200.00	0.50	\$100.00
Revise August 2024 monthly fee statement.				
Draft/revise A103 9/26/2024	Gabrielle Albert	\$650.00	0.50	\$325.00
Revise monthly fee statement.				
Draft/revise A103 9/26/2024	Colin Mitsuoka	\$200.00	1.30	\$260.00
Revise fourth interim fee application.				
Draft/revise A103 9/27/2024	Alice Giang	\$425.00	0.20	\$85.00
Revise fourth interim fee application.				
	Т	Time Entries Total	5.50	\$1,480.00

Total for 00283-B160 Fee/Employment \$1,480.00
Applications

00283-B320 Plan and Disclosure Statement (including Business Plan)

Time Entries Review/analyze A104	Billed By Gabrielle Albert	Rate \$650.00	Hours	Fees and Expenses Total
9/3/2024 Review memo from T. Burns re insurance coverage and settlement law		φου.σο	0.50	φ1)3.00
Communicate (other outside counsel) A107 9/3/2024 Call with B. Weisenberg re insurance issues pertaining to plan.	Gabrielle Albert	\$650.00	0.20	\$130.00

Total for 00283-B320 Plan and \$325.00

Disclosure Statement (including

Business Plan)

00283-Fee/Employment Applications of Others

I-2671

Time Entries	Billed By	Rate	Hours	Fees and Expenses Total
Draft/revise A103	Colin Mitsuoka	\$200.00	0.40	\$80.00
9/9/2024 Draft Certificate of Non-Objection re July monthly fee statements.				

Case: 23-40523 Doc# 1731-4 Filed: 02/14/25 Entered: 02/14/25 16:23:28 Page 3 Page 2 of 4

Time Entries	Billed By	Rate	Hours	Fees and Expenses Total
Communicate (other external) A108 9/26/2024	Gabrielle Albert	\$650.00	0.30	\$195.00
Call and emails with R. Weidman re DWC fee statements and interim application.				
Communicate (other outside counsel) A107 9/27/2024	Gabrielle Albert	\$650.00	0.30	\$195.00
Call and emails with B. Weisenberg re DWC compensation.				
Draft/revise A103 9/30/2024	Gabrielle Albert	\$650.00	0.50	\$325.00
Review and revise DWC monthly fee statement.				
Communicate (other external) A108 9/30/2024	Gabrielle Albert	\$650.00	0.10	\$65.00
Call with R. Weidman re DWC monthly fee statement.				
Draft/revise A103 9/30/2024	Colin Mitsuoka	\$200.00	0.50	\$100.00
Finalize Committee professionals' monthly fee statements for filing.				
		Time Entries Total	2.10	\$960.00

Total for 00283-Fee/Employment	\$960.00
Applications of Others	

00283-Hearings

I-2671

Time Entries	Billed By	Rate	Hours	Fees and Expenses Total
Communicate (other outside counsel) A107 9/16/2024 Call with B. Weisenberg re motion for status conference re survivor statements and mediation.	Gabrielle Albert	\$650.00	0.60	\$390.00
Communicate (other outside counsel) A107 9/24/2024 Call with B. Weisenberg re survivor statements.	Gabrielle Albert	\$650.00	0.10	\$65.00
Appear for/attend A109 9/25/2024 Attend hearing re Debtor's motion to extend time to assume/reject contracts.	Gabrielle Albert	\$650.00	0.60	\$390.00
Communicate (other external) A108 9/25/2024 Call and emails with courtroom deputy re hearing schedule.	Gabrielle Albert	\$650.00	0.20	\$130.00
Communicate (other outside counsel) A107 9/25/2024 Emails with C. Frankel re motion for hearing re survivor statements (0.1); confer with B. Weisenberg re hearing on Debtor's motion to extend time to assume/reject contracts (0.1).	Gabrielle Albert	\$650.00	0.20	\$130.00
Communicate (other outside counsel) A107 9/26/2024 Call with B. Weisenberg re mediation and survivor statements.	Gabrielle Albert	\$650.00	0.40	\$260.00
Communicate (other outside counsel) A107 9/30/2024 Call with B. Weisenberg re scheduling for survivor statements status conference.	Gabrielle Albert	\$650.00	0.20	\$130.00

Case: 23-40523 Doc# 1731-4 Filed: 02/14/25 Entered: 02/14/25 16:23:28 Page 4 Page 3 of 4

Time Entries	Billed By	Rate	Hours	Fees and Expenses Total
Draft/revise A103 9/30/2024 Revise motion to set status conference for survivor statements (2.7); draft notice of hearing on motion to set survivor statements status conference (0.8); review and revise order setting status conference for survivor statements (1.1).	Gabrielle Albert	\$650.00	4.60	\$2,990.00

Total for 00283-Hearings	\$4,485.00
Total (USD)	\$9,135.00
Credit CN-920242 10/29/2024	\$-1,000.00
Payment 1943 11/19/2024	\$-6,508.00
Balance	\$1,627.00

6.90

\$4,485.00

Time Entries Total

Timekeeper Totals

I-2671

Name	Rate	Hours	Total
Gabrielle Albert	\$650.00	12.30	\$7,995.00
Colin Mitsuoka	\$200.00	3.80	\$760.00
Priscila Chen Hsu	\$150.00	1.40	\$210.00
Alice Giang	\$425.00	0.40	\$170.00



425 Market Street, Floor 26 San Francisco, CA 94105 US www.kbkllp.com

Number	2684
Issue Date	11/18/2024
Due Date	12/18/2024

The Official Committee of Unsecured Creditors of the Roman Catholic Bishop of Oakland

00283- B110 Case Administration

Time Entries	Billed By	Rate	Hours	Fees and Expenses Total
Communicate (other outside counsel) A107	Gabrielle Albert	\$650.00	0.20	\$130.00
Emails with N. Kuenzi re motion for pro hac vice.				
Review/analyze A104 10/3/2024	Gabrielle Albert	\$650.00	0.10	\$65.00
Review Kuenzi pro hac vice application.				
Draft/revise A103 10/8/2024	Colin Mitsuoka	\$200.00	0.20	\$40.00
Draft certificate of service of motion to schedule status conferences and notice of hearing re same.				
Review/analyze A104 10/10/2024	Gabrielle Albert	\$650.00	0.40	\$260.00
Review Debtor's status conference report.				
		Time Entries Total	0.90	\$495.00

Total for 00283-B110 Case \$495.00
Administration

00283-B120 Asset Analysis and Recovery

I-2684

Time Entries	Billed By	Rate	Hours	Fees and Expenses Total
Communicate (other external) A108 10/8/2024 Call with B. Weisenberg, R. Strong and M. Babcock re real estate valuation.	Gabrielle Albert	\$650.00	0.40	\$260.00
		Time Entries Total	0.40	\$260.00

Total for 00283-B120 Asset Analysis	\$260.00
and Recovery	

00283-B140 Relief from Stay/Adequate Protection Proceedings

Time Entries	Billed By	Rate	Hours	Fees and Expenses Total
Research A102 10/14/2024 Research re denial of extension of stay.	Gabrielle Albert	\$650.00	1.30	\$845.00
	Tiı	me Entries Total	1.30	\$845.00

Total for 00283-B140 Relief from \$845.00

Stay/Adequate Protection

Proceedings

00283-B150 Meetings of and Communications with Creditors

		ime Entries Total	0.50	\$325.00
10/11/2024 Attend committee meeting.				
Appear for/attend A109	Gabrielle Albert	\$650.00	0.50	\$325.00
Time Entries	Billed By	Rate	Hours	Fees and Expenses Total

Total for 00283-B150 Meetings of and

Communications with Creditors

00283-B160 Fee/Employment Applications

I-2684

Time Entries	Billed By	Rate	Hours	Fees and Expenses Total
Draft/revise A103 10/1/2024 Prepare fourth interim fee application.	Alice Giang	\$425.00	2.00	\$850.00
Draft/revise A103 10/3/2024 Revise fourth interim fee application.	Alice Giang	\$425.00	2.30	\$977.50
Draft/revise A103 10/4/2024 Draft monthly fee statement.	Colin Mitsuoka	\$200.00	0.60	\$120.00
Communicate (in firm) A105 10/7/2024 Call with A. Giang regarding interim fee application.	Colin Mitsuoka	\$200.00	0.10	\$20.00
Draft/revise A103 10/7/2024 Finalize draft of fourth interim fee application.	Alice Giang	\$425.00	3.00	\$1,275.00
Communicate (in firm) A105 10/7/2024 Call with C. Mitsuoka regarding fourth interim fee application.	Alice Giang	\$425.00	0.20	\$85.00

Time Entries	Billed By	Rate	Hours	Fees and Expenses Total
Draft/revise A103 10/8/2024 Revise fourth interim fee application.	Alice Giang	\$425.00	2.00	\$850.00
Draft/revise A103 10/9/2024 Revise KBK fee application.	Gabrielle Albert	\$650.00	0.80	\$520.00
Review/analyze A104 10/9/2024 Review interim fee application.	Colin Mitsuoka	\$200.00	0.40	\$80.00
Draft/revise A103 10/9/2024 Revise fourth interim fee application.	Alice Giang	\$425.00	0.60	\$255.00
Communicate (in firm) A105 10/11/2024 Call and emails with C. Mitsuoka re KBK fee application.	Gabrielle Albert	\$650.00	0.40	\$260.00
Draft/revise A103 10/11/2024 Review and revise interim fee application.	Colin Mitsuoka	\$200.00	0.90	\$180.00
Communicate (in firm) A105 10/11/2024 Calls and e-mails with G. Albert regarding interim fee application.	Colin Mitsuoka	\$200.00	0.40	\$80.00
Review/analyze A104 10/11/2024 Review interim fee application and related documents.	Tobias Keller	\$1,000.00	0.50	\$500.00
Draft/revise A103 10/24/2024 Revise monthly fee statement.	Gabrielle Albert	\$650.00	0.30	\$195.00
Draft/revise A103 10/28/2024 Draft September monthly fee statement.	Colin Mitsuoka	\$200.00	0.50	\$100.00
Draft/revise A103 10/29/2024 Draft September monthly fee statement.	Colin Mitsuoka	\$200.00	0.30	\$60.00
		Time Entries Total	15.30	\$6,407.50

Total for 00283-B160 Fee/Employment \$6,407.50

Applications

00283-B190 Other Contested Matters (excluding assumption/rejection motions)

Time Entries	Billed By	Rate	Hours	Fees and Expenses Total
Communicate (other outside counsel) A107 10/1/2024 Call with B. Weisenberg re mediation.	Gabrielle Albert	\$650.00	0.30	\$195.00
		Time Entries Total	0.30	\$195.00

\$195.00

00283-B310 Claims Administration and Objections

Time Entries	Billed By	Rate	Hours	Fees and Expenses Total
Communicate (other external) A108 10/24/2024 Emails with KBK and Lowenstein teams re service of revised confidentiality stipulation.	Gabrielle Albert	\$650.00	0.30	\$195.00
		Time Entries Total	0.30	\$195.00

Total for 00283-B310 Claims \$195.00
Administration and Objections

00283-B320 Plan and Disclosure Statement (including Business Plan)

Time Entries	Billed By	Rate	Hours	Fees and Expenses Total
Communicate (in firm) A105 10/31/2024 Call with G. Albert regarding plan strategy.	Jane Kim	\$900.00	0.20	\$180.00
		Time Entries Total	0.20	\$180.00

Total for 00283-B320 Plan and \$180.00

Disclosure Statement (including

Business Plan)

00283-Fee/Employment Applications of Others

I-2684

Time Entries	Billed By	Rate	Hours	Fees and Expenses Total
Communicate (other outside counsel) A107 10/1/2024 Email to Committee Professionals regarding monthly fee statements.	Colin Mitsuoka	\$200.00	0.10	\$20.00
Draft/revise A103 10/1/2024 Draft and finalize certificate of service regarding committee professionals' monthly fee statements.	Colin Mitsuoka	\$200.00	0.30	\$60.00
Communicate (other external) A108 10/3/2024 Call with BRG re fee applications.	Gabrielle Albert	\$650.00	0.30	\$195.00
Communicate (other external) A108 10/3/2024 Call with S. Moses re hearing date for fee applications.	Gabrielle Albert	\$650.00	0.20	\$130.00

Case: 23-40523 Doc# 1731-4 Filed: 02/14/25 Entered: 02/14/25 16:23:28 Page 9 Page 4 of 8

Time Entries	Billed By	Rate	Hours	Fees and Expenses Total
Draft/revise A103 10/10/2024 Draft omnibus certificate of non-objection regarding August monthly fee	Colin Mitsuoka	\$200.00	0.50	\$100.00
statements.				
Draft/revise A103 10/10/2024	Gabrielle Albert	\$650.00	0.90	\$585.00
Revise omnibus certificate of non-objection for August fee statements (0.7) ; draft email to committee professionals re interim fee applications (0.2) .				
Draft/revise A103	Gabrielle Albert	\$650.00	0.50	\$325.00
10/11/2024 Review and revise Stout fee application for compliance with local standards.				
Draft/revise A103	Gabrielle Albert	\$650.00	0.70	\$455.00
10/11/2024 Revise letter to S. Woodall re Committee professional fee applications (.5); draft email to S. Woodall re schedule for same (.2)				
Draft/revise A103	Priscila Chen Hsu	\$150.00	0.50	\$75.00
10/11/2024 Review and revise Committee professionals' interim fee apps according to local rules.				
Draft/revise A103	Gabrielle Albert	\$650.00	0.80	\$520.00
10/15/2024 Finalize committee fee applications for filing.				
Communicate (in firm) A105	Gabrielle Albert	\$650.00	0.40	\$260.00
10/15/2024 Confer with C. Mitsuoka re committee fee applications.				
Draft/revise A103	Colin Mitsuoka	\$200.00	3.80	\$760.00
10/15/2024 Finalize Committee Professionals' interim fee applications for filing.				
Communicate (in firm) A105	Colin Mitsuoka	\$200.00	0.40	\$80.00
10/15/2024 Confer with G. Albert regarding Committee Professionals' interim fee				
applications.	C 1 : 11 A 11 .	Ф.(50.00	0.40	¢2(0.00
Review/analyze A104 10/29/2024	Gabrielle Albert	\$650.00	0.40	\$260.00
Review 2014 declaration from CBRE (.3); draft email to R. Weidman re same (.1).				
Communicate (other outside counsel) A107	Gabrielle Albert	\$650.00	0.30	\$195.00
10/30/2024 Call with B. Weisenberg re DWS monthly payments and survivor statements.				
Draft/revise A103 10/30/2024	Colin Mitsuoka	\$200.00	0.90	\$180.00
Finalize and file Committee professionals' September monthly fee statements (0.7); draft certificate of service re same (0.2).				
		Time Entries Total	11.00	\$4,200.00
		Total for 00283-Fee/	Employment (\$4,200.00
		Applicatio	ons of Others	

00283-Hearings

I-2684

Case: 23-40523 Doc# 1731-4 Filed: 02/14/25 Entered: 02/14/25 16:23:28 Page 10 Page 5 of 8

Time Entries	Billed By	Rate	Hours	Fees and Expenses Total
Communicate (other external) A108 10/1/2024 Call with court clerk re hearing dates for survivor statement hearing dates (.2);	Gabrielle Albert	\$650.00	0.30	\$195.00
draft email to B. Weisenberg re same (.1).				
Communicate (other outside counsel) A107 10/1/2024 Emails with B. Weisenberg and T. Burns re status conference before Judge Corley.	Gabrielle Albert	\$650.00	0.20	\$130.00
Draft/revise A103 10/3/2024 Draft ex parte application for hearing on shortened time for Survivor Statements Motion.	Gabrielle Albert	\$650.00	1.90	\$1,235.00
Communicate (other outside counsel) A107 10/3/2024 Emails with B. Weisenberg re motion for order shortening time on survivor statement motion.	Gabrielle Albert	\$650.00	0.10	\$65.00
Draft/revise A103 10/4/2024 Draft Weisenberg declaration in support of motion for order shortening time for survivor statements.	Gabrielle Albert	\$650.00	1.10	\$715.00
Communicate (other outside counsel) A107 10/6/2024 Call with B. Weisenberg re motion to schedule survivor statements.	Gabrielle Albert	\$650.00	0.20	\$130.00
Draft/revise A103 10/7/2024 Revise motion to set survivor statements hearing.	Gabrielle Albert	\$650.00	1.10	\$715.00
Communicate (other outside counsel) A107 10/7/2024 Call with B. Weisenberg re schedule for survivor statements.	Gabrielle Albert	\$650.00	0.20	\$130.00
Draft/revise A103 10/7/2024 Revise notice of hearing re survivor statement motion.	Gabrielle Albert	\$650.00	1.40	\$910.00
Draft/revise A103 10/7/2024 Revise motion for order shortening time re Survivor Statements Motion.	Gabrielle Albert	\$650.00	1.40	\$910.00
Communicate (other outside counsel) A107 10/11/2024 Emails with B. Weisenberg re survivor statements conference.	Gabrielle Albert	\$650.00	0.10	\$65.00
Communicate (other outside counsel) A107 10/13/2024 Call with B. Weisenberg re hearing on motion to allow survivor statements.	Gabrielle Albert	\$650.00	0.20	\$130.00
Plan and prepare for A101 10/14/2024 Prepare for hearing re survivor statement motion (1.1); call with B. Weisenberg re same (.3).	Gabrielle Albert	\$650.00	1.40	\$910.00
Appear for/attend A109 10/15/2024 Attend hearing re motion to allow survivor statements and status conference.	Gabrielle Albert	\$650.00	3.50	\$2,275.00
Draft/revise A103 10/21/2024 Revise and finalize reply to insurer objections to proposed status conference re survivor statements.	Gabrielle Albert	\$650.00	4.20	\$2,730.00

Time Entries	Billed By	Rate	Hours	Fees and Expenses Total
Communicate (other outside counsel) A107	Gabrielle Albert	\$650.00	0.50	\$325.00
10/21/2024 Multiple calls with B. Weisenberg re reply to insurer objection to survivor statements.				
Communicate (other outside counsel) A107 10/22/2024 Call with B. Weisenberg re Insurer surreply re survivor statement status	Gabrielle Albert	\$650.00	0.20	\$130.00
conference motion.				
Review/analyze A104 10/22/2024	Gabrielle Albert	\$650.00	1.30	\$845.00
Review and analyze Pacific Indemnity sur reply re survivor statements motion.				
Review/analyze A104 10/23/2024	Jane Kim	\$900.00	1.20	\$1,080.00
Memo to G. Albert regarding survivor statements motion.				
Appear for/attend A109 10/24/2024 Attend hearing re survivor statements.	Gabrielle Albert	\$650.00	1.50	\$975.00
Appear for/attend A109	Jane Kim	\$900.00	1.10	\$990.00
10/24/2024 Attend hearing on survivor statements.				
Communicate (other outside counsel) A107 10/28/2024	Gabrielle Albert	\$650.00	0.20	\$130.00
Call with B. Weisenberg re hearing for survivor statements.				
Draft/revise A103 10/28/2024	Gabrielle Albert	\$650.00	0.30	\$195.00
Revise order granting motion to hear survivor statements to conform to local standards (.2); draft email to R. Bautista re same (.1).				
Communicate (other external) A108 10/28/2024	Gabrielle Albert	\$650.00	1.30	\$845.00
Meeting with Lowenstein and survivor counsel re preparation for survivor presentations.				
Draft/revise A103 10/28/2024	Gabrielle Albert	\$650.00	4.70	\$3,055.00
Draft memo re preparation of survivor speakers.				
Communicate (other outside counsel) A107 10/29/2024	Gabrielle Albert	\$650.00	0.50	\$325.00
Calls and emails with B. Weisenberg re survivor statements hearing.				
Plan and prepare for A101 10/29/2024	Gabrielle Albert	\$650.00	3.10	\$2,015.00
Plan and prepare logistics for survivor presentations.				
Communicate (other external) A108 10/29/2024	Gabrielle Albert	\$650.00	0.30	\$195.00
Call with court staff re logistics for November 4 survivor presentations.				
Communicate (other external) A108 10/29/2024	Gabrielle Albert	\$650.00	0.30	\$195.00
Call with J. Stein re survivor speaker hearing.				
Plan and prepare for A101 10/30/2024 Further planning for survivor presentations.	Gabrielle Albert	\$650.00	0.90	\$585.00

Time Entries	Billed By	Rate	Hours	Fees and Expenses Total
Draft/revise A103 10/30/2024	Gabrielle Albert	\$650.00	0.80	\$520.00
Draft memo re survivor statement meetings.				
Communicate (other outside counsel) A107 10/31/2024	Gabrielle Albert	\$650.00	0.20	\$130.00
Calls and emails with B. Weisenberg re survivor statements hearing.				
Communicate (other external) A108 10/31/2024	Gabrielle Albert	\$650.00	0.10	\$65.00
Call with C. Hinrichs re survivor statements hearing.				
Communicate (other external) A108 10/31/2024	Gabrielle Albert	\$650.00	0.10	\$65.00
Call with R. Simons re survivor statements hearing.				
Plan and prepare for A101 10/31/2024	Gabrielle Albert	\$650.00	1.10	\$715.00
Prepare for meetings with speakers at Nov. 4 hearing.				
Plan and prepare for A101 10/31/2024	Gabrielle Albert	\$650.00	2.20	\$1,430.00
Preparation and coordination with state court counsel for survivor statements hearing.				
Communicate (other external) A108 10/31/2024	Gabrielle Albert	\$650.00	0.80	\$520.00
Meet with survivor #1 to prepare for Nov. 4 hearing.				
Communicate (other external) A108 10/31/2024	Gabrielle Albert	\$650.00	0.30	\$195.00
Draft email to D. Turner re Nov. 4 hearing logistics.				
		Time Entries Total	40.30	\$26,770.00

Total for 00283-Hearings	\$26,770.00
Total (USD)	\$39,872.50
Payment 1972 12/12/2024	\$-31,897.00
Balance	\$7,975.50

Timekeeper Totals

I-2684

Name	Rate	Hours	Total
Gabrielle Albert	\$650.00	47.50	\$30,875.00
Colin Mitsuoka	\$200.00	9.40	\$1,880.00
Alice Giang	\$425.00	10.10	\$4,292.50
Tobias Keller	\$1,000.00	0.50	\$500.00
Jane Kim	\$900.00	2.50	\$2,250.00
Priscila Chen Hsu	\$150.00	0.50	\$75.00



425 Market Street, Floor 26 San Francisco, CA 94105 US www.kbkllp.com

I-26844

Number	26844
Issue Date	11/18/2024
Due Date	12/18/2024
Matter	637 - 00283-Expenses
Ledes Id	000

The Official Committee of Unsecured Creditors of the Roman Catholic Bishop of Oakland

		Expenses Total:	1.00	\$445.30
eScribers Invoice No. 1051045 (October 24, 2024 hearing transcript).				
Uncategorized 10/28/2024	Colin Mitsuoka	\$445.30	1.00	\$445.30
Expenses	Billed By	Price	Qty	Fees and Expenses Total

Total (USD)	\$445.30
Payment 1971 12/12/2024	\$-445.30
Balance	\$0.00

Case: 23-40523 Doc# 1731-4 Filed: 02/14/25 Entered: 02/14/25 16:23:28 Page 14 Page 1 of 1

ot 33



425 Market Street, Floor 26 San Francisco, CA 94105 US www.kbkllp.com

I-2721

Number 2721

Issue Date 12/16/2024

The Official Committee of Unsecured Creditors of the Roman Catholic Bishop of Oakland

00283- B110 Case Administration

Time Entries	Billed By	Rate	Hours	Fees and Expenses Total
Research A102 11/10/2024 Research re motion to file oversized brief.	Gabrielle Albert	\$650.00	0.60	\$390.00
Draft/revise A103 11/13/2024 Revise request for reimbursement of expenses.	Gabrielle Albert	\$650.00	0.10	\$65.00
Draft/revise A103 11/26/2024 Draft email to T. Dolcourt re reimbursement of committee expenses.	Gabrielle Albert	\$650.00	0.10	\$65.00
		Time Entries Total	0.80	\$520.00

Total for 00283- B110 Case \$520.00

Administration

00283-B140 Relief from Stay/Adequate Protection Proceedings

Time Entries	Billed By	Rate	Hours	Fees and Expenses Total
Communicate (other outside counsel) A107 11/6/2024 Call and emails with B. Weisenberg relief from stay.	Gabrielle Albert	\$650.00	0.10	\$65.00
Research A102 11/6/2024 Research re motion for relief from stay.	Gabrielle Albert	\$650.00	0.80	\$520.00
Communicate (other outside counsel) A107 11/11/2024 Call and emails with B. Weisenberg re motion for relief from stay and dismissa	Gabrielle Albert	\$650.00	0.20	\$130.00
Communicate (other outside counsel) A107 11/11/2024 Call with C. Gauvin and B. Weisenberg re motion for relief from stay.	Gabrielle Albert	\$650.00	0.40	\$260.00

Case: 23-40523 Doc# 1731-4 Filed: 02/14/25 Entered: 02/14/25 16:23:28 Page 15page 1 of 10

of 33

Time Entries	Billed By	Rate	Hours	Fees and Expenses Total
Draft/revise A103 11/11/2024 Review and revise draft motion for relief from stay and alternative relief for compliance with local standards.	Gabrielle Albert	\$650.00	1.90	\$1,235.00
Communicate (other outside counsel) A107 11/12/2024 Calls with B. Weisenberg and C. Gauvin re motion for relief from stay.	Gabrielle Albert	\$650.00	0.20	\$130.00
Draft/revise A103 11/12/2024 Revise motion for relief from stay.	Gabrielle Albert	\$650.00	5.10	\$3,315.00
Draft/revise A103 11/13/2024 Revise motion for relief from stay.	Gabrielle Albert	\$650.00	3.10	\$2,015.00
Communicate (other outside counsel) A107 11/13/2024 Call with B. Weisenberg re revisions to motion for relief from stay.	Gabrielle Albert	\$650.00	0.20	\$130.00
Draft/revise A103 11/14/2024 Draft memo to B. Weisenberg and J. Prol re Northern District service and notice requirements.	Gabrielle Albert	\$650.00	0.70	\$455.00
Draft/revise A103 11/14/2024 Revise motion for relief from stay.	Gabrielle Albert	\$650.00	3.00	\$1,950.00
Communicate (other outside counsel) A107 11/14/2024 Call with B. Weisenberg re motion for relief from stay.	Gabrielle Albert	\$650.00	0.20	\$130.00
Communicate (other outside counsel) A107 11/15/2024 Call with Lowenstein team re motions for relief from stay and standing.	Gabrielle Albert	\$650.00	0.50	\$325.00
Draft/revise A103 11/15/2024 Revise motion for relief from stay.	Gabrielle Albert	\$650.00	4.20	\$2,730.00
Communicate (other outside counsel) A107 11/16/2024 Call with B. Weisenberg re motion for relief from stay.	Gabrielle Albert	\$650.00	0.20	\$130.00
Draft/revise A103 11/18/2024 Draft motion to file under seal.	Gabrielle Albert	\$650.00	1.10	\$715.00
Communicate (other outside counsel) A107 11/18/2024 Call with B. Weisenberg re motion for relief from stay and supporting pleadings.	Gabrielle Albert	\$650.00	0.20	\$130.00
Draft/revise A103 11/18/2024 Revise G. Albert declaration in support of motion for relief from stay.	Gabrielle Albert	\$650.00	1.20	\$780.00
Draft/revise A103 11/18/2024 Draft motion to seal, proposed order, and declaration re same.	Colin Mitsuoka	\$200.00	0.70	\$140.00
Review/analyze A104 11/19/2024 Review emails from J. Amala re motion for relief from stay.	Gabrielle Albert	\$650.00	0.20	\$130.00

Time Entries	Billed By	Rate	Hours	Fees and Expenses Total
Review/analyze A104 11/19/2024	Gabrielle Albert	\$650.00	0.20	\$130.00
Review K. Campbell revisions to motion for relief from stay.				
Communicate (other outside counsel) A107 11/19/2024	Gabrielle Albert	\$650.00	0.20	\$130.00
Call and emails with B. Weisenberg re motion for relief from stay.				
Draft/revise A103 11/19/2024	Gabrielle Albert	\$650.00	0.50	\$325.00
Revise Albert declaration in support of motion for relief from stay.				
Draft/revise A103 11/19/2024	Colin Mitsuoka	\$200.00	0.30	\$60.00
Prepare exhibits to Albert Declaration in Support of Motion to Seal.				
Draft/revise A103 11/20/2024	Gabrielle Albert	\$650.00	0.30	\$195.00
Revise and finalize motion for relief from stay.				
Communicate (other outside counsel) A107	Gabrielle Albert	\$650.00	0.50	\$325.00
Calls and emails with B. Weisenberg re motion for relief from stay, standing motion and complaint.				
Draft/revise A103 11/20/2024	Colin Mitsuoka	\$200.00	1.00	\$200.00
Revise standing motion.				
Communicate (in firm) A105 11/22/2024	Gabrielle Albert	\$650.00	0.20	\$130.00
Confer with T. Keller re debtor request to continue hearing on relief from stay.				
Draft/revise A103 11/22/2024	Priscila Chen Hsu	\$150.00	0.40	\$60.00
Finalize motion for filing.				
Communicate (in firm) A105	Tobias Keller	\$1,000.00	0.20	\$200.00
Call, emails with G. Albert regarding Committee's relief from stay motion and attempts to continue same.				
Draft/revise A103 11/22/2024	Colin Mitsuoka	\$200.00	0.30	\$60.00
Draft and revise certificate of service regarding motion for relief from stay.				
Communicate (other external) A108 11/26/2024	Gabrielle Albert	\$650.00	0.10	\$65.00
Draft email to C. Hinrichs re motion for relief from stay.				
Communicate (other external) A108 11/26/2024	Gabrielle Albert	\$650.00	0.30	\$195.00
Call with Anderson team and B. Weisenberg re relief from stay motion.				
		Time Entries Total	28.70	\$17,490.00

Total for 00283-B140 Relief from \$17,490.00

Stay/Adequate Protection

Proceedings

00283-B150 Meetings of and Communications with Creditors

I-2721

Case: 23-40523 Doc# 1731-4 Filed: 02/14/25 Entered: 02/14/25 16:23:28 Page 17Page 3 of 10

Time Entries	Billed By	Rate	Hours	Fees and Expenses Total
Appear for/attend A109 11/1/2024 Attend committee meeting.	Gabrielle Albert	\$650.00	1.00	\$650.00
		Γime Entries Total	1.00	\$650.00

Total for 00283-B150 Meetings of and	\$650.00
Communications with Creditors	

00283-B160 Fee/Employment Applications

I-2721

Time Entries	Billed By	Rate	Hours	Fees and Expenses Total
Draft/revise A103 11/12/2024	Gabrielle Albert	\$650.00	0.40	\$260.00
Revise monthly fee statement.				
Draft/revise A103	Priscila Chen Hsu	\$150.00	0.20	\$30.00
11/12/2024				
Draft monthly fee statement.				
Draft/revise A103	Colin Mitsuoka	\$200.00	0.30	\$60.00
11/18/2024				
Revise October monthly fee statement.				
Draft/revise A103	Colin Mitsuoka	\$200.00	0.30	\$60.00
11/19/2024				
Revise October monthly fee statement.				
Review/analyze A104	Colin Mitsuoka	\$200.00	0.50	\$100.00
11/25/2024				
Review expenses in response to transcript order requests for the Fee				
Examiner.				
	7	Fime Entries Total	1.70	\$510.00

Total for 00283-B160 Fee/Employment \$510.00
Applications

00283-B190 Other Contested Matters (excluding assumption/rejection motions)

Time Entries	Billed By	Rate	Hours	Fees and Expenses Total
Communicate (other external) A108 11/2/2024 Call with B. Weisenberg and J. Stein re mediation.	Gabrielle Albert	\$650.00	0.30	\$195.00
Draft/revise A103 11/8/2024 Revise CNO re confidentiality order (.3h); emails with B. Weisenberg re same (.2h).	Gabrielle Albert	\$650.00	0.50	\$325.00
Research A102 11/15/2024 Research re trustee strong arm powers under 9th Circuit authority.	Gabrielle Albert	\$650.00	1.40	\$910.00

Case: 23-40523 Doc# 1731-4 Filed: 02/14/25 Entered: 02/14/25 16:23:28 Page 18 age 4 of 10

of 33

Time Entries	Billed By	Rate	Hours	Fees and Expenses Total
Draft/revise A103 11/19/2024	Gabrielle Albert	\$650.00	1.00	\$650.00
Revise Committee motion for derivative standing for compliance with local standards.				
Draft/revise A103 11/19/2024	Gabrielle Albert	\$650.00	1.30	\$845.00
Draft Declaration of B. Weisenberg in support of standing motion.				
Draft/revise A103	Gabrielle Albert	\$650.00	4.20	\$2,730.00
11/20/2024				
Revise and finalize motion for standing.				
Communicate (other external) A108	Gabrielle Albert	\$650.00	1.20	\$780.00
11/25/2024				
Call with BRG and Lowenstein re complaints against the Debtor.				
Communicate (other external) A108 11/25/2024	Gabrielle Albert	\$650.00	0.20	\$130.00
Draft email to A. Uetz re service of complaint.				
Communicate (other external) A108	Gabrielle Albert	\$650.00	0.10	\$65.00
11/26/2024				
Emails with A. Uetz re service of subpoena and complaint.				
Communicate (other external) A108	Gabrielle Albert	\$650.00	0.10	\$65.00
11/26/2024				
Call with C. Fan re unredacted version of standing motion.				
		Time Entries Total	10.30	\$6,695.00

Total for 00283-B190 Other Contested \$6,695.00

Matters (excluding assumption/rejection motions)

Administration and Objections

00283-B310 Claims Administration and Objections

I-2721

Time Entries	Billed By	Rate	Hours	Fees and Expenses Total
Draft/revise A103 11/8/2024 Draft certificate of no objection regarding stipulation to permit experts and consultants to access unredacted proofs of claim.	Colin Mitsuoka	\$200.00	0.20	\$40.00
		Time Entries Total	0.20	\$40.00
		Total for 00283-B310	Claims	\$40.00

00283-B320 Plan and Disclosure Statement (including Business Plan)

Time Entries Billed By Rate Hours

Case: 23-40523 Doc# 1731-4 Filed: 02/14/25 Entered: 02/14/25 16:23:28 Page 19-age 5 of 10

Communicate (other outside counsel) A107 11/1/2024 Call with B. Weisenberg, C Frankel, and J. Kim re plan strategy.	Gabrielle Albert	\$650.00	0.50	\$325.00
Communicate (other outside counsel) A107 11/1/2024 Call with B. Weisenberg, C. Frankel, G. Albert regarding plan negotiations.	Jane Kim	\$900.00	0.50	\$450.00
Review/analyze A104 11/1/2024 Review email memo on plan.	Jane Kim	\$900.00	0.20	\$180.00
Communicate (other outside counsel) A107 11/13/2024 Call with B. Weisenberg regarding standing.	Jane Kim	\$900.00	0.10	\$90.00
Review/analyze A104 11/13/2024 Review standing analysis.	Jane Kim	\$900.00	0.50	\$450.00
Review/analyze A104 11/14/2024 Review standing issue.	Jane Kim	\$900.00	0.20	\$180.00
Draft/revise A103 11/21/2024 Draft memo to B. Weisenberg re disclosure statement objection.	Gabrielle Albert	\$650.00	0.30	\$195.00
Review/analyze A104 11/26/2024 Review Disclosure Statement.	Gabrielle Albert	\$650.00	2.80	\$1,820.00
Communicate (other outside counsel) A107 11/26/2024 Call with B. Weisenberg re plan solicitation procedures and December survivor statement hearing.	Gabrielle Albert	\$650.00	0.20	\$130.00
Review/analyze A104 11/27/2024 Review solicitation procedures.	Gabrielle Albert	\$650.00	1.90	\$1,235.00
Communicate (other outside counsel) A107 11/27/2024 Call with B. Weisenberg re objection to disclosure statement.	Gabrielle Albert	\$650.00	0.20	\$130.00
Draft/revise A103 11/27/2024 Revise objection to disclosure statement.	Gabrielle Albert	\$650.00	3.50	\$2,275.00
Communicate (other outside counsel) A107 11/29/2024 Call with B. Weisenberg re objection to disclosure statement.	Gabrielle Albert	\$650.00	0.70	\$455.00
Draft/revise A103 11/30/2024 Revise objection to disclosure statement.	Gabrielle Albert	\$650.00	2.80	\$1,820.00
		Time Entries Total	14.40	\$9,735.00
		Total for 00283-B320 Pla		\$9,735.00
		Disclosure Statement (incl Business	-	

00283-Fee/Employment Applications of Others

I-2721

Case: 23-40523 Doc# 1731-4 Filed: 02/14/25 Entered: 02/14/25 16:23:28 Page 20^age 6 of 10

Time Entries	Billed By	Rate	Hours	Fees and Expenses Total
Draft/revise A103	Priscila Chen Hsu	\$150.00	0.50	\$75.00
11/6/2024				
Prepare committee reimbursement application for committee member signature.				
Draft/revise A103	Colin Mitsuoka	\$200.00	0.10	\$20.00
11/8/2024				
Redact personal information from Committee member expense reimbursement form.				
Draft/revise A103	Gabrielle Albert	\$650.00	0.20	\$130.00
11/13/2024				
Revise CNO for monthly fee statements.				
Draft/revise A103	Priscila Chen Hsu	\$150.00	0.70	\$105.00
11/13/2024				
Finalize committee reimbursement application for filing (0.4) ; draft certificate of service re same (0.3) .				
Draft/revise A103	Priscila Chen Hsu	\$150.00	0.10	\$15.00
11/19/2024				
Finalize certificate of no objection for committee members' reimbursement application for filing.				
Communicate (other external) A108	Gabrielle Albert	\$650.00	0.10	\$65.00
Call with S. Moses re interim fee applications.				
Draft/revise A103	Colin Mitsuoka	\$200.00	0.30	\$60.00
11/26/2024				
Finalize and file Committee professionals' monthly fee statements.				
Draft/revise A103 11/27/2024	Colin Mitsuoka	\$200.00	0.40	\$80.00
Finalize and file Burns Bair (0.2) and Lowenstein (0.2) monthly fee statements.				
(0.2) and 2011 classical (0.2) mentally fee statements.				
		Time Entries Total	2.40	\$550.00

Total for 00283-Fee/Employment	\$550.00
Applications of Others	

00283-Hearings

I-2721

Time Entries	Billed By	Rate	Hours	Fees and Expenses Total
Communicate (other external) A108 11/1/2024 Meet with Survivor #5 re preparation for Nov. 4 hearing.	Gabrielle Albert	\$650.00	0.50	\$325.00
Communicate (other external) A108 11/1/2024 Meet with survivor #3 re preparation for Nov. 4 hearing.	Gabrielle Albert	\$650.00	1.00	\$650.00
Communicate (other external) A108 11/1/2024 Meet with Survivor #4 re preparation for Nov. 4 hearing.	Gabrielle Albert	\$650.00	0.80	\$520.00
Communicate (other outside counsel) A107 11/1/2024 Call with B. Weisenberg re Nov. 4 hearing (.1); zoom call with J. Prol and B. Weisenberg re Nov. hearing (.5).	Gabrielle Albert	\$650.00	0.60	\$390.00

Time Entries	Billed By	Rate	Hours	Fees and Expenses
Draft/revise A103 11/1/2024	Gabrielle Albert	\$650.00	2.20	\$1,430.00
Revise hearing preparation memo.				
Communicate (other external) A108 11/1/2024	Gabrielle Albert	\$650.00	0.90	\$585.00
Meeting with Survivor #2 to prepare for November 4 hearing.				
Communicate (other external) A108 11/1/2024	Gabrielle Albert	\$650.00	0.20	\$130.00
Call with Debtor's counsel re Nov. 4 hearing.				
Communicate (other external) A108 11/2/2024	Gabrielle Albert	\$650.00	0.80	\$520.00
Call with Survivor #6 to prepare for Nov. 4 hearing.				
Communicate (other outside counsel) A107 11/4/2024	Gabrielle Albert	\$650.00	2.00	\$1,300.00
Meet with B. Weisenberg and J. Prol re survivor statement hearing.				
Communicate (with client) A106 11/4/2024	Gabrielle Albert	\$650.00	3.50	\$2,275.0
Meet with committee members and survivors to prepare for survivor statement hearing.				
Appear for/attend A109 11/4/2024	Gabrielle Albert	\$650.00	3.50	\$2,275.0
Attend survivor statement hearing.				
Communicate (with client) A106	Gabrielle Albert	\$650.00	2.50	\$1,625.0
Meet with committee members and survivors post-hearing.				
Appear for/attend A109 11/4/2024	Tobias Keller	\$1,000.00	2.40	\$2,400.0
Attend survivor impact presentations.				
Communicate (other external) A108	Gabrielle Albert	\$650.00	0.30	\$195.0
Emails with R. Simons and Survivor re Dec. 13 survivor statements hearing.				
Communicate (other external) A108 11/18/2024	Gabrielle Albert	\$650.00	0.40	\$260.0
Emails with R. Simons and B. Weisenberg re survivor statements.				
Draft/revise A103 11/19/2024	Gabrielle Albert	\$650.00	1.50	\$975.0
Draft notice of motion for relief from stay and motion for derivative standing.				
Communicate (other external) A108 11/19/2024	Gabrielle Albert	\$650.00	0.10	\$65.0
Call with J. Stein re Dec. 13 survivor statements hearing.				
Communicate (other external) A108 11/19/2024	Gabrielle Albert	\$650.00	0.10	\$65.0
Emails with E. Scott re preparation for survivor statement hearing.				
Communicate (with client) A106 11/20/2024	Gabrielle Albert	\$650.00	0.10	\$65.0
Call with S. Woodall re speakers at survivor statement hearing.				
Communicate (other outside counsel) A107 11/21/2024	Gabrielle Albert	\$650.00	0.20	\$130.0
Call and email with B. Weisenberg re debtor request to continue December 18 hearing.				

Time Entries	Billed By	Rate	Hours	Fees and Expenses Total
Research A102 11/22/2024 Research re 9006 motion to continue hearing date.	Gabrielle Albert	\$650.00	1.50	\$975.00
Communicate (other outside counsel) A107 11/22/2024 Confer with B. Weisenberg re debtor request to delay relief from stay and standing hearings.	Gabrielle Albert	\$650.00	0.40	\$260.00
Review/analyze A104 11/22/2024 Review Debtor's motion to extend response deadline to motions for relief from stay and standing.	Gabrielle Albert	\$650.00	0.20	\$130.00
Research A102 11/23/2024 Research re extension of hearings.	Gabrielle Albert	\$650.00	1.60	\$1,040.00
Communicate (other outside counsel) A107 11/25/2024 Multiple calls with B. Weisenberg re objection to Debtor's motion to continue hearing on Committee motions.	Gabrielle Albert	\$650.00	0.50	\$325.00
Draft/revise A103 11/25/2024 Revise objection to Debtor's motion to extend response deadline to Committee motions.	Gabrielle Albert	\$650.00	1.40	\$910.00
Draft/revise A103 11/25/2024 Draft G. Albert declaration in support of Committee objection to Debtor's motion to extend time.	Gabrielle Albert	\$650.00	1.10	\$715.00
Communicate (with client) A106 11/26/2024 Draft email to Committee re December 13 survivor statement hearing.	Gabrielle Albert	\$650.00	0.20	\$130.00
Communicate (other outside counsel) A107 11/27/2024 Call with B. Weisenberg in preparation for Nov. 27 hearing.	Gabrielle Albert	\$650.00	0.20	\$130.00
Appear for/attend A109 11/27/2024 Attend status conference re Committee relief from stay and standing motions.	Gabrielle Albert	\$650.00	0.90	\$585.00
Communicate (other outside counsel) A107 11/27/2024 Call with J. Prol and B. Weisenberg re Nov. 27 hearing.	Gabrielle Albert	\$650.00	0.20	\$130.00
		Time Entries Total	31.80	\$21,510.00

Total for 00283-Hearings	\$21,510.00
T (1 (UCD)	Ø57 700 00
Total (USD)	\$57,700.00
Credit CN-1020267 12/16/2024	\$-2,400.00
Payment 2024 1/10/2025	\$-44,240.00
Balance	\$11,060.00

Timekeeper Totals

I-2721

Name	Rate	Hours	Total
Gabrielle Albert	\$650.00	80.90	\$52,585.00
Colin Mitsuoka	\$200.00	4.40	\$880.00
Priscila Chen Hsu	\$150.00	1.90	\$285.00
Tobias Keller	\$1,000.00	2.60	\$2,600.00
Jane Kim	\$900.00	1.50	\$1,350.00



425 Market Street, Floor 26 San Francisco, CA 94105 US www.kbkllp.com

I-27211

Number	27211
Issue Date	12/16/2024
Matter	637 - 00283-Expenses
Ledes Id	000

The Official Committee of Unsecured Creditors of the Roman Catholic Bishop of Oakland

Expenses	Billed By	Price	Qty	Fees and Expenses Total
Local travel	Gabrielle Albert	\$70.90	1.00	\$70.90
11/4/2024				
Uber fare from San Francisco to Oakland for Hearing (J. Prol, B. Weisenberg & G. Albert)	&			
G. Albeit)				
Uncategorized	Gabrielle Albert	\$105.67	1.00	\$105.67
11/4/2024				
Oakland to SF (J. Prol and G. Albert) and to SFO (B. Weisenberg).				
Uncategorized	Colin Mitsuoka	\$103.24	1.00	\$103.24
11/6/2024				
FedEx service of Order Shortening Time re Survivor Statements.				
Uncategorized	Colin Mitsuoka	\$101.50	1.00	\$101.50
11/19/2024				
Veritext Invoice No. 7875276 (October 15, 2024 hearing transcript).				
Uncategorized	Colin Mitsuoka	\$350.00	1.00	\$350.00
11/21/2024				
Pay.gov Invoice No. A33546560 (cost for filing a complaint).				
Uncategorized	Colin Mitsuoka	\$199.00	1.00	\$199.00
11/21/2024				
Pay.gov Invoice No. A33546505 (cost for filing a complaint).				
Uncategorized	Colin Mitsuoka	\$162.66	1.00	\$162.66
11/22/2024				
CertificateofService.com Invoice No. 7332310094 (service of documents).				
		Expenses Total:	7.00	\$1,092.97

Total (USD)	\$1,092.97
Payment 2023 1/10/2025	\$-1,092.97
Balance	\$0.00

Case: 23-40523 Doc# 1731-4 Filed: 02/14/25 Entered: 02/14/25 16:23:28 Page 25 Page 1 of 1

ot 33



425 Market Street, Floor 26 San Francisco, CA 94105 US www.kbkllp.com Number 2749

Issue Date 1/30/2025

The Official Committee of Unsecured Creditors of the Roman Catholic Bishop of Oakland

00283-B140 Relief from Stay/Adequate Protection Proceedings

Time Entries	Billed By	Rate	Hours	Fees and Expenses Total
Communicate (other outside counsel) A107 12/23/2024 Calls with B. Weisenberg re motion for relief from stay, mediation and January hearings.	Gabrielle Albert	\$650.00	0.40	\$260.00
Communicate (other external) A108 12/23/2024 Draft email to state court counsel re motion for relief from stay.	Gabrielle Albert	\$650.00	0.40	\$260.00
		Time Entries Total	0.80	\$520.00
		Total for 00283-B140 Reli Stay/Adequate Pro		\$520.00

00283-B150 Meetings of and Communications with Creditors

Time Entries	Billed By	Rate	Hours	Fees and Expenses Total
Communicate (other external) A108 12/16/2024 Call with survivor re case status update.	Gabrielle Albert	\$650.00	0.20	\$130.00
	Tin	ne Entries Total	0.20	\$130.00
		or 00283-B150 Meetin		\$130.00

00283-B160 Fee/Employment Applications

I-2749

Time Entries	Billed By	Rate	Hours	Fees and Expenses Total
--------------	-----------	------	-------	----------------------------

Case: 23-40523 Doc# 1731-4 Filed: 02/14/25 Entered: 02/14/25 16:23:28 Page 26 Page 1 of 7

Draft/revise A103	Colin Mitsuoka	\$200.00	0.50	\$100.0
12/10/2024				
Draft November monthly fee statement.				
Draft/revise A103	Priscila Chen Hsu	\$150.00	0.30	\$45.0
12/16/2024				
Revise monthly fee application.				
Draft/revise A103	Colin Mitsuoka	\$200.00	0.30	\$60.0
12/23/2024				
Draft supplemental declaration re rate increase.				
Draft/revise A103	Colin Mitsuoka	\$200.00	0.40	\$80.00
12/30/2024				
Revise supplemental declaration re rate increase (0.2); finalize service of same				
(0.2).				
		Time Entries Total	1.50	\$285.00

Total for 00283-B160 Fee/Employment \$285.00

Applications

00283-B190 Other Contested Matters (excluding assumption/rejection motions)

Time Entries	Billed By	Rate	Hours	Fees and Expenses Total
Communicate (other outside counsel) A107 12/2/2024 Emails with C. Frankel re complaint for declaratory relief.	Gabrielle Albert	\$650.00	0.10	\$65.00
Review/analyze A104 12/10/2024 Review complaint against bond obligated group.	Gabrielle Albert	\$650.00	0.40	\$260.00
Communicate (in firm) A105 12/11/2024 Call with G. Albert and P. Chen Hsu regarding bond obligated complaint.	Colin Mitsuoka	\$200.00	0.50	\$100.00
Communicate (in firm) A105 12/11/2024 Call with G. Albert and C. Mitsuoka re bond obligated complaint.	Priscila Chen Hsu	\$150.00	0.50	\$75.00
Communicate (in firm) A105 12/11/2024 Call with C. Mitsuoka and P. Chen Hsu re bond obligated complaint.	Gabrielle Albert	\$650.00	0.50	\$325.00
Draft/revise A103 12/16/2024 Revise Committee Derivative Standing Insurance Actions Motion.	Colin Mitsuoka	\$200.00	0.80	\$160.00
Communicate (other outside counsel) A107 12/16/2024 Call with B. Weisenberg re declaratory relief action, disclosure statement hearing and real property report.	Gabrielle Albert	\$650.00	0.20	\$130.00
Draft/revise A103 12/16/2024 Revise and finalize motion for derivative standing for insurance adversary proceeding.	Gabrielle Albert	\$650.00	2.10	\$1,365.00

Time Entries	Billed By	Rate	Hours	Fees and Expenses Total
Draft/revise A103	Priscila Chen Hsu	\$150.00	1.80	\$270.00
12/16/2024				
Draft notice of hearing re motion for derivative standing for insurance				
adversary proceeding (0.5); prepare and finalize exhibits re same for filing				
(1.3).				
Draft/revise A103	Priscila Chen Hsu	\$150.00	0.20	\$30.00
12/17/2024				
Coordinate service of motion for derivative standing for insurance adversary				
proceeding.				
Draft/revise A103	Priscila Chen Hsu	\$150.00	0.60	\$90.00
12/18/2024				
Draft and finalize certificate of service re motion for derivative standing for				
filing.				
Draft/revise A103	Colin Mitsuoka	\$200.00	0.30	\$60.00
12/20/2024				******
Draft certificate of service regarding service of complaint and summons in				
Adversary Proceeding.				
		Time Entries Total	8.00	\$2,930.00

Total for 00283-B190 Other Contested \$2,930.00

Matters (excluding assumption/rejection motions)

00283-B310 Claims Administration and Objections

I-2749

Time Entries	Billed By	Rate	Hours	Fees and Expenses Total
Draft/revise A103	Gabrielle Albert	\$650.00	2.60	\$1,690.00
12/11/2024 Draft notice of objection to OPF claim (0.4); review and revise objection to OPF claim (2.2).				
Communicate (other outside counsel) A107	Gabrielle Albert	\$650.00	0.20	\$130.00
Call with N. Fulfree and C. Frankel re objection to OPF claim.				
Review/analyze A104 12/12/2024	Gabrielle Albert	\$650.00	0.20	\$130.00
Attend to service of claim objection on Oakland Parochial Fund.				
		Time Entries Total	3.00	\$1,950.00

Total for 00283-B310 Claims \$1,950.00
Administration and Objections

00283-B320 Plan and Disclosure Statement (including Business Plan)

Time Entries	Billed By	Rate Hours	Fees and Expenses Total
--------------	-----------	------------	----------------------------

Case: 23-40523 Doc# 1731-4 Filed: 02/14/25 Entered: 02/14/25 16:23:28 Page 28 Page 3 of 7

		Time Entries Total	15.50	\$9,140.00
Communicate (in firm) A105 12/17/2024 Discuss proposed plan releases with J. Kim.	Gabrielle Albert	\$650.00	0.40	\$260.00
Research re exculpation clauses (1.1); draft memo to B. Weisenberg re same (0.7).				
Research A102 12/17/2024	Gabrielle Albert	\$650.00	1.80	\$1,170.00
Review Debtor reply to disclosure statement objection.				
Review/analyze A104 12/17/2024	Gabrielle Albert	\$650.00	0.90	\$585.00
Call with Lowenstein team re Debtor's reply in support of its disclosure statement.				
Communicate (other outside counsel) A107 12/17/2024	Gabrielle Albert	\$650.00	0.60	\$390.0
Confer with G. Albert regarding plan and upcoming disclosure statement objection hearing.				
Communicate (in firm) A105 12/17/2024	Jane Kim	\$900.00	0.40	\$360.0
Draft certificate of service regarding objection to disclosure statement & claim objection (0.3); draft certificate of service regarding claim objection (0.2).				
Draft/revise A103 12/12/2024	Colin Mitsuoka	\$200.00	0.50	\$100.0
12/11/2024 Call with C. Frankel re objection to disclosure statement.				
Communicate (other outside counsel) A107	Gabrielle Albert	\$650.00	0.10	\$65.0
Draft/revise A103 12/11/2024 Revise and finalize for filing objection to disclosure statement.	Gabrielle Albert	\$650.00	1.80	\$1,170.0
objection to disclosure statement.	01:"."	#<50.00	100	
Communicate (other outside counsel) A107 12/11/2024 Call with B. Weisenberg re fee app hearing, adversary complaint, and	Gabrielle Albert	\$650.00	0.20	\$130.0
Finalize Objection to Disclosure Statement & Weisenberg Declaration ISO same for filing.				
Draft/revise A103 12/11/2024	Colin Mitsuoka	\$200.00	0.80	\$160.0
12/10/2024 Revise Objection to Debtor's Disclosure Statement.				
disclosure statement objection (2.3). Draft/revise A103	Colin Mitsuoka	\$200.00	1.00	\$200.0
12/10/2024 Revise objection to disclosure statement (2.8); draft declaration in support of				
Call with B. Weisenberg re objection to disclosure statement. Draft/revise A103	Gabrielle Albert	\$650.00	5.10	\$3,315.0
Communicate (other outside counsel) A107 12/10/2024	Gabrielle Albert	\$650.00	0.10	\$65.0
12/9/2024 Revise Disclosure Statement Objection.				
Call with B. Weisenberg re objection to disclosure statement. Draft/revise A103	Gabrielle Albert	\$650.00	1.50	\$975.0
Communicate (other outside counsel) A107 2/3/2024	Gabrielle Albert	\$650.00		

Total for 00283-B320 Plan and \$9,140.00

Disclosure Statement (including

Business Plan)

00283-Fee/Employment Applications of Others

Time Entries	Billed By	Rate	Hours	Fees and Expenses Total
Draft/revise A103 12/3/2024 Draft and finalize committee reimbursement application for filing (0.5); draft certificate of service re same (0.1).	Priscila Chen Hsu	\$150.00	0.60	\$90.00
Draft/revise A103 12/9/2024 Review and finalize omnibus CNO for monthly fee statements.	Gabrielle Albert	\$650.00	0.30	\$195.00
Draft/revise A103 12/9/2024 Draft and finalize omnibus certificate of no objection regarding October monthly fee statements.	Colin Mitsuoka	\$200.00	0.30	\$60.00
Review/analyze A104 12/12/2024 Review omnibus order granting interim fee applications.	Colin Mitsuoka	\$200.00	0.20	\$40.00
Communicate (other external) A108 12/16/2024 Draft email to S. Moses re reimbursement of Woodall expenses.	Gabrielle Albert	\$650.00	0.10	\$65.00
Draft/revise A103 12/16/2024 Finalize certificate of no objection re committee member reimbursement application for filing.	Priscila Chen Hsu	\$150.00	0.20	\$30.00
Communicate (with client) A106 12/17/2024 Emails with S. Waterworth re expenses from Dec. 13 hearing.	Gabrielle Albert	\$650.00	0.20	\$130.00
Draft/revise A103 12/18/2024 Draft and finalize committee members' application for reimbursement for filing (0.3); draft certificate of service re same (0.2).	Priscila Chen Hsu	\$150.00	0.50	\$75.00
Draft/revise A103 12/20/2024 Finalize and file Lowenstein Sandler notice of rate increase (0.2); draft service list and certificate of service re same (0.3).	Colin Mitsuoka	\$200.00	0.50	\$100.00
Draft/revise A103 12/23/2024 Revise and finalize committee professionals' monthly fee statements.	Gabrielle Albert	\$650.00	0.10	\$65.00
Draft/revise A103 12/23/2024 Finalize and file committee professionals' November monthly fee statements (0.5); draft certificate of service regarding same (0.2).	Colin Mitsuoka	\$200.00	0.70	\$140.00
Draft/revise A103 12/30/2024 Finalize certificate of no objection re committee members' reimbursement application for filing.	Priscila Chen Hsu	\$150.00	0.20	\$30.00

Case: 23-40523 Doc# 1731-4 Filed: 02/14/25 Entered: 02/14/25 16:23:28 Page 30 Page 5 of 7

Time Entries	Billed By	Rate	Hours	Fees and Expenses Total
Draft/revise A103 12/30/2024 Finalize Burns Bair November monthly fee statement for filing (0.1); finalize service of same (0.2).	Colin Mitsuoka	\$200.00	0.30	\$60.00
		Time Entries Total	4.20	\$1,080.00

Total for 00283-Fee/Employment	\$1,080.00
Applications of Others	

00283-Hearings

I-2749

Time Entries	Billed By	Rate	Hours	Fees and Expenses Total
	•			
Plan and prepare for A101 12/2/2024	Gabrielle Albert	\$650.00	1.00	\$650.00
Coordinate preparation for the December 13 survivor statement hearing.				
Communicate (other outside counsel) A107	Gabrielle Albert	\$650.00	0.50	\$325.00
12/2/2024 Call with B. Weisenberg re preparation for survivor statement hearing and				
adversary complaints.				
Communicate (other external) A108	Gabrielle Albert	\$650.00	0.40	\$260.00
12/3/2024				
Emails with M. Ogden and K. Campbell re preparation for Dec. 13 hearing.				
Communicate (with client) A106	Gabrielle Albert	\$650.00	1.00	\$650.00
12/4/2024				
Meet with Survivor #8 re Dec. 13 hearing preparation.				
Plan and prepare for A101	Gabrielle Albert	\$650.00	0.90	\$585.00
12/4/2024				
Coordinate speaker preparation for Dec. 13 status conference.				
Communicate (other external) A108	Gabrielle Albert	\$650.00	0.70	\$455.00
12/5/2024				
Call with Survivor to prepare for Dec. 13 statements.				
Plan and prepare for A101	Gabrielle Albert	\$650.00	0.80	\$520.00
12/5/2024				
Prepare with state court counsel for Dec. 13 survivor statement hearing.				
Communicate (other outside counsel) A107	Gabrielle Albert	\$650.00	0.30	\$195.00
12/6/2024				
Call with B. Weisenberg re preparation for Dec. 13 survivor statement hearing.				
Communicate (other external) A108	Gabrielle Albert	\$650.00	1.50	\$975.00
12/6/2024				
Meetings with survivor to prepare for Dec. 13 presentations.				
Draft/revise A103	Gabrielle Albert	\$650.00	1.10	\$715.00
12/6/2024				
Revise memo to survivor speakers re Dec. 13 hearing.				
Appear for/attend A109	Gabrielle Albert	\$650.00	2.30	\$1,495.00
12/9/2024				
Meetings with survivors to prepare for Dec. 13 presentations.				

Case: 23-40523 Doc# 1731-4 Filed: 02/14/25 Entered: 02/14/25 16:23:28 Page 31 Page 6 of 7

Time Entries	Billed By	Rate	Hours	Fees and Expenses Total
Appear for/attend A109	Gabrielle Albert	\$650.00	0.60	\$390.00
12/10/2024 Meet with survivor to prepare for Dec. 13 hearing.				
Appear for/attend A109 12/11/2024 Attend hearing re fee applications.	Gabrielle Albert	\$650.00	2.40	\$1,560.00
Communicate (other external) A108 12/11/2024	Gabrielle Albert	\$650.00	0.30	\$195.00
Call with C. Fan re Dec. 13 survivor statement hearing (0.2) ; emails with state court counsel re Dec. 13 survivor statement hearing (0.1) .				
Review/analyze A104 12/12/2024	Gabrielle Albert	\$650.00	1.10	\$715.00
Review survivor speaker proofs of claim.				
Draft/revise A103 12/17/2024	Colin Mitsuoka	\$200.00	0.80	\$160.00
Prepare binder for December 18, 2024 hearing.				
Appear for/attend A109 12/18/2024	Gabrielle Albert	\$650.00	7.50	\$4,875.00
Attend hearing re Debtor's disclosure statement.				
Draft/revise A103 12/19/2024	Gabrielle Albert	\$650.00	0.60	\$390.00
Draft emails to survivors' counsel re Dec. 13 hearing.				
		Time Entries Total	23.80	\$15,110.00

Total for 00283-Hearings	\$15,110.00
Total (USD)	\$31,145.00
Paid	\$0.00
Balance	\$31,145.00

Timekeeper Totals

I-2749

Rate	Hours	Total
\$650.00	43.80	\$28,470.00
\$200.00	7.90	\$1,580.00
\$150.00	4.90	\$735.00
\$900.00	0.40	\$360.00
	\$650.00 \$200.00 \$150.00	\$650.00 43.80 \$200.00 7.90 \$150.00 4.90



425 Market Street, Floor 26 San Francisco, CA 94105 US www.kbkllp.com

I-27499

Number	27499
Issue Date	1/16/2025
Matter	637 - 00283-Expenses
Ledes Id	000

The Official Committee of Unsecured Creditors of the Roman Catholic Bishop of Oakland

Expenses	Billed By	Price	Qty	Fees and Expenses Total
Uncategorized	Colin Mitsuoka	\$350.00	1.00	\$350.00
12/11/2024				
Pay.gov Invoice No. A33582193 (filing fee for adversary proceeding).				
Uncategorized	Colin Mitsuoka	\$144.57	1.00	\$144.57
12/12/2024				
CertificateofService.com Invoice No. 7332314512 (service of documents).				
Uncategorized	Colin Mitsuoka	\$11.22	1.00	\$11.22
12/12/2024				
CertificateofService.com Invoice No. 7332314609 (service of documents).				
Uncategorized	Gabrielle Albert	\$75.55	1.00	\$75.55
12/13/2024				
UBER - Marriott to SFO (B. Weisenberg and G. Albert)				
Uncategorized	Priscila Chen Hsu	\$236.76	1.00	\$236.76
12/17/2024				
CertificateofService.com Invoice No. 7332315516 (service of documents).				
Uncategorized	Colin Mitsuoka	\$5.69	1.00	\$5.69
12/20/2024				
CertificateofService.com Invoice No. 7332316528 (service of documents).				
Uncategorized	Colin Mitsuoka	\$1,401.60	1.00	\$1,401.60
12/24/2024				
eScribers Invoice No. 1080477 (December 18, 2024 hearing transcript).				
Uncategorized	Colin Mitsuoka	\$5.69	1.00	\$5.69
12/30/2024				
CertificateofService.com Invoice No. 7332317817 (service of documents).				
		Expenses Total:	8.00	\$2,231.08

Total (USD)	\$2,231.08
Paid	\$0.00
Balance	\$2,231.08

Case: 23-40523 Doc# 1731-4 Filed: 02/14/25 Entered: 02/14/25 16:23:28 Page 33 Page 1 of 1

of 33